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*

)set break resume

)sys rm -f charlwood.output
)spool charlwood.output
)set message auto off
)clear all

0.1

Problem 1

of 250

:= asin(x)*log(x)

(1) asin(x)log(x)
Type: Expression(Integer)

of 250

1= -2xsqrt(1-x"2)+atanh(sqrt(1-x72) ) -x*asin(x)*(1-log(x))+_

sqrt (1-x~2) *log(x)

(2)

atanh(\|- x + 1) + (log(x) - 2)\|I- x + 1 + x asin(x)log(x) - x asin(x)
Type: Expression(Integer)

of 250

:= integrate(t0001,x)

(3

log(\l-x +1 +1) - log\l-x +1 -1)
+



--R (- x log(x) + x)atan(-----------—- ) + (2log(x) - H\Il-x +1

--R Type: Union(Expression(Integer),...)
--E 3

--S 4 of 250
m0001:= a0001-r0001

--R (1)

--R log(\l-x +1 + 1) - log(\lI-x +1 -1) - 2atanh(\|-x + 1)
__R +

--R (- x log(x) + x)atan(-—-—--—---—--—--- ) - 2x asin(x)log(x) + 2x asin(x)

--R Type: Expression(Integer)
--E 4

--S 5 of 250
d0001:= D(m0001,x)

--R - log(x)atan(-—-----—--—---- ) - 2asin(x)log(x)

--R (B) —mmmmmmmme- e

--R Type: Expression(Integer)

0.2 Problem 2



--S 6 of 250
t0002:= x*asin(x)/sqrt(1-x72)

--R x asin(x)

--R Type: Expression(Integer)

--S 7 of 250
r0002:= x-sqrt(1-x"2)*asin(x)

--R  (7) - asin(x)\|l-x +1 +x
--R Type: Expression(Integer)
—E 7

--S 8 of 250
a0002:= integrate(t0002,x)

--R Type: Union(Expression(Integer),...)

--S 9 of 250
m0002:= a0002-r0002

--R \l- x + 1 atan(-———------—-—- ) + 2asin(x)\I- x + 1



--R Type: Expression(Integer)

--S 10 of 250
d0002:= D(m0002,x)

--R Type: Expression(Integer)

0.3 Problem 3

--S 11 of 250
£0003:= asin(sqrt(x+1)-sqrt(x))

--R s + +—+

--R (11) asin(\lx + 1 - \lx)

--R Type: Expression(Integer)
--E 11

--S 12 of 250
r0003:= ((sqrt(x)+3*sqrt(1+x))*sqrt(-x+sqrt(x)*sqrt(1+x)))/(4*sqrt(2))-_
(3/8+x)*asin(sqrt (x)-sqrt (1+x))

--R
--R

--R  (12)

--R e e +

--R - + +—+ | =+ +————- + +-+ +———— + +—+

-—R  (B\Ix +1 + 2\[x )\I\Ix \Ilx +1 -x + (8x + 3)\[2 asin(\|lx + 1 - \|x )



--R +-+
—-R 8\ |2
--R Type: Expression(Integer)

--S 13 of 250
a0003:= integrate(t0003,x)

--R >> Error detected within library code:
--R  failed - cannot handle that integrand

--R

--R Continuing to read the file...
--R

--E 13

--S 14 of 250

--m0003:= a0003-r0003

--E 14

--8 15 of 250

--d0003:= D(m0003,x)

--E 15

0.4 Problem 4

--S 16 of 250
t0004:= log(l+x*sqrt(1+x~2))

--R | 2

--R (13) log(x\lx + 1 + 1)

--R Type: Expression(Integer)
--E 16

--S 17 of 250

r0004:= -2*xx+sqrt(2*(1+sqrt(5)))*atan(sqrt(-2+sqrt(5))*(x+sqrt(1+x72)))-_
sqrt (2x (-1+sqrt (5)))*atanh(sqrt (2+sqrt (5) ) * (x+sqrt (1+x72) ) ) +_
x*log(1+x*sqrt (1+x72))



--R  (14)

--R | 2 |+t I 2 | +=+
--R x log(x\lx + 1 + 1) - \|2\|5 - 2 atanh((\Ix + 1 + x)\I\I6 + 2)

--R |+t | 2 | +-+

--R \I2\|5 + 2 atan((\Ix + 1 + x)\I\I6 -2 ) - 2x

--R Type: Expression(Integer)
--E 17

--S 18 of 250
a0004:= integrate(t0004,x)

--R +—+ | 2 +-+ | +-+ +-+ | 2
--R ((\I5 + D\Ix +1 -x\I15 - x)\I\I5 -1 -2x\|2\|lx +1

--R 2 +—+

--R (2x + 2)\I2

--R | +-+ | +-+ +—+ +—+ | 2
--R \INIE - 1 log(\INI5S -1 + x\I2 ) + 2x\|2 log(x\Ix + 1 + 1)

--R | +-+ | +-+ +-+
--R - \I\I5 -1 1log(- \I\IB -1 + x\|2)

--R +-+ | 2 +—+ | +—+ +-+ | 2
--R (=\I5 = D\Ix +1 +x\|58 +x)\I\I5 -1 -2x\|2 \|x +1

--R 2 +—+
--R (2x  + 2\[2



--R +o—m————— + +—+ | 2 +—+ | +-+
--R [ +-—+ (A\NIB = DNIx +1 - x\|58 + \I\I6 + 1
--R 2\I\I6 + 1 atan(-————————————————————————— )

--R +—+ | 2 2 +-+
--R 2x\|12 \Ix +1 + (- 2x - 2)\[2

--R | +=+ \INIS + 1 +=+
--R - 2\I\I5 + 1 atan(----------- ) - 4x\[2

--R +—+

--R 2\12

--R Type: Union(Expression(Integer),...)
--E 18

--S 19 of 250
m0004:= a0004-r0004

--R +—+ | 2 +-+ | +-+ +—+ | 2
--R ((\I5 + D\Ix +1 -=x\I5 - x)\N\I5 -1 -2x\|2\|lx +1

--R 2 +—+
--R (2x + 2)\[2

--R | +-+ | +-+ +-+
--R NINIB - 1 log(\INIE -1 + x\|2)

--R | +-+ | +-+ +—+
--R - \I\I5 -1 log(- \I\I& -1 +x\|2)

10



--R log

--R +-+ | 2 +-+ | +-+ +-+ | 2
--R (=\I58 = D\Ix +1 +x\|6 +x)\I\I65 -1 -2x\|2\|x + 1

--R 2 =+

--R (2x + 2)\|2

--R +-+ |  +-+ | 2 | +-+
--R 2\12 \I2\|5 - 2 atanh((\|lx + 1 + x)\I\IE + 2)

--R +omm————— + +—+ | 2 +—+ | +-+
--R [ +-—+ (A\NIB = DNIx +1 - x\|5 + \I\I6 + 1
--R 2\I\I6 + 1 atan(-————————————————————————— )

--R +—+ | 2 2 +-+
--R 2x\12 \Ix +1 + (- 2x - 2)\I2

--R | 4=+ \I\IE + 1
--R - 2\I\I5 + 1 atan(----------- )

--R +—+ | +—+ | 2 | +-+
--R - 2\12 \I2\|6 + 2 atan((\lx + 1 + x\I\IE - 2)

--R +-+

--R 2\ 12

--R Type: Expression(Integer)
--E 19

--S 20 of 250

d0004:= D(m0004,x)

--R U7

--R +-+ | 2 +-+ | +-+ | +-+

--R (=\I58 - D\Ix +1 -x\I6 -3x)\I\I6 -2 \[2\|6 + 2

--R +-+ | 2 +-+ | +-+ | +-+ | 2

--R (=\NI58 + DN\Ix +1 -x\|6 + 3x)\I\I5 + 2 \[2\|6 -2 + 8\[x +1

--R 4x

11



--R | 2 3
--R 4A\|x + 1 + 4x + 4x

--R Type:

0.5 Problem 5

--S 21 of 250
t0005:= cos(x) "2/sqrt(cos(x) “4+cos(x) "2+1)

--R \lcos(x) + cos(x) + 1

--R Type:

--E 21

--S 22 of 250
r0005:= x/3+1/3*atan((cos(x)*(1+cos(x)"2)*sin(x))/_
(1+cos(x) “2*sqrt (1+cos(x) “2+cos(x) "4)))

--R 3
--R (cos(x) + cos(x))sin(x)

--R 2 | 4 2

--R Type:

--S 23 of 250

a0005:= integrate(t0005,x)
--R

--R

12

Expression(Integer)

Expression(Integer)

Expression(Integer)



--R (20

--R atan

--R 5 4 3

--R (cos(x) + 2cos(x) + cos(x) )sin(x)

--R +- — -— —
--R | 4 2

--R | 16cos(x) + 16cos(x) + 16

R |- N . _

--R | 4 3 2

--R \lcos(x) + 4cos(x) + 6cos(x) + 4dcos(x) + 1

--R 6
--R 4cos(x) - 2

--R Type: Union(Expression(Integer),...)
--E 23

--S 24 of 250
m0005:= a0005-r0005

--R (21

--R atan

--R 5 4 3

--R (cos(x) + 2cos(x) + cos(x) )sin(x)

--R o —_— —_— ——4
--R | 4 2

--R | 16cos(x) + 16cos(x) + 16

R [p— — — —
--R | 4 3 2

--R \lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

--R 6
--R 4cos(x) - 2

--R 3
--R (cos(x) + cos(x))sin(x)
--R - 2atan(----- —- ) - 2x

--R 2 | 4 2
--R cos(x) \lcos(x) + cos(x) +1 +1

--R Type: Expression(Integer)
--E 24

--S 25 of 250

13



d0005:= D(m0005,x)

-k (22)
--R 26 25 24 23
4cos(x) - 8cos(x) - 20cos(x) - 32cos(x)

|

|
=~/

|

--R 22 21 20 19
--R - 44cos(x) - 56cos(x) - T72cos(x) - 88cos(x)

--R 18 17 16 15
--R - T6cos(x) - 64cos(x) - 64cos(x) - 64cos(x)

--R 14 13 12 10 9
36cos(x) - 8cos(x) - 4cos(x) + 12cos(x) + 24cos(x)

|

|
=~/

|

--R 8 7 6
--R 16cos(x) + 8cos(x) + 4cos(x)

--R 4
--R sin(x)

--R 28 27 26 25
8cos (x) - 16cos(x) - 32cos(x) - 48cos(x)

|

|
j=~]

|

--R 24 23 22 21
--R - T2cos(x) - 96cos(x) - 128cos(x) - 160cos (%)

--R 20 19 18 17
176cos (x) - 192cos(x) - 216cos(x) - 240cos (%)

|

|
j=~]

|

--R 16 15 14 13
209cos (x) - 178cos(x) - 156cos(x) - 134cos(x)

|

|
j=~]

|

--R 12 11 10 9
--R - 94cos(x) - 54cos(x) - 48cos(x) - 42cos(x)

--R 8 7 6 5 4
--R - 29cos(x) - 16cos(x) - 11cos(x) - 6cos(x) - cos(x)

--R 3 2
--R 4cos(x) + 3cos(x) + 2cos(x) + 1

--R 2
--R sin(x)

--R 30 29 28 27 26
--R - 4cos(x) - 8cos(x) - 12cos(x) - 16cos(x) - 32cos(x)

--R 25 24 23 22 21

14



- 48cos(x) - 52cos(x) - 56cos(x) - T2cos(x) - 88cos(x)

20 19 18 17 16
- b6cos(x) - 24cos(x) - 9cos(x) + 6cos(x) + 49cos(x)

15 14 13 12 11
92cos (x) + T2cos(x) + 52cos(x) + 46cos(x) + 40cos(x)

10 9 8 7 6
11cos(x) - 18cos(x) - 1l4cos(x) - 10cos(x) - 12cos(x)
+
5 4 3 2
- 14cos(x) - 8cos(x) - 2cos(x) - 2cos(x) - 2cos(x) -1
O -— -— -—t

4 2

|

| 16cos(x) + 16cos(x) + 16

| _ _ ——
|
|

4 3 2
\lcos(x) + 4cos(x) + 6cos(x) + 4dcos(x) + 1

26 24 22 20 18
8cos (x) + 40cos(x) + 104cos(x) + 180cos(x) + 236cos(x)

16 14 12 10 8
260cos (x) + 248cos(x) + 200cos (%) + 132cos(x) + 76cos(x)

6 4
40cos(x) + 12cos(x)

4
sin(x)

28 26 24 22 20
16cos (%) + 64cos(x) + 144cos(x) + 208cos(x) + 272cos(x)

18 16 14 12
336cos(x) + 424cos(x) + 436cos(x) + 388cos(x)

10 8 6 4 2
296cos (x) + 180cos(x) + 88cos(x) + 16cos(x) + 12cos(x)

2
sin(x)

30 28 26 24 22

8cos (x) + 24cos(x) + 48cos(x) + 52cos(x) + 84cos(x)

20 18 16 14 12

96cos (x) + 124cos(x) + 48cos(x) - 4cos(x) - 68cos(x)

15



10 8 6 4
- 40cos(x) - 28cos(x) - 4cos(x) - 4cos(x)

+- - -—
| 4 2
\lcos(x) + cos(x) + 1

28 27 26 25 24
- 4cos(x) - 8cos(x) - 24cos(x) - 40cos(x) - 68cos(x)
+
23 22 21 20
- 96cos(x) - 136cos(x) - 176cos(x) - 180cos(x)
+
19 18 17 16
- 184cos(x) - 164cos(x) - 144cos(x) - 80cos(x)
+
15 14 13 12 11
- 16cos(x) + 8cos(x) + 32cos(x) + 40cos(x) + 48cos(x)
+

10 9 8
28cos (x) + 8cos(x) + 4cos(x)

4
sin(x)
+
30 29 28 27 26
- 8cos(x) - 16cos(x) - 40cos(x) - B4cos(x) - 112cos(x)
+
25 24 23 22
- 160cos (%) - 220cos(x) - 280cos (%) - 304cos(x)
+
21 20 19 18
- 328cos(x) - 328cos(x) - 328cos(x) - 289cos(x)
+
17 16 15 14
- 250cos(x) - 249cos(x) - 248cos(x) - 223cos(x)
+
13 12 11 10
- 198cos(x) - 174cos(x) - 150cos(x) - 100cos(x)
+
9 8 7 6 5
- 50cos(x) - 27cos(x) - 4cos(x) + 3cos(x) + 10cos(x)
+
4 3 2
6cos(x) + 2cos(x) + cos(x)
*
2
sin(x)
+

16



32 31 30 29 28

- 4cos(x) - 8cos(x) - 16cos(x) - 24cos(x) - 48cos(x)
+
27 26 25 24 23
- T2cos(x) - 84cos(x) - 96cos(x) - 108cos (%) - 120cos (%)
+
22 21 20 19 18
- 84cos(x) - 48cos(x) - 29cos(x) - 10cos(x) + 36cos(x)
+
17 16 15 14 13

82cos (x) + 76cos(x) + 70cos(x) + 78cos(x) + 86cos(x)

12 11 10 9 8
53cos (%) + 20cos(x) + 11cos(x) + 2cos(x) - 13cos(x)

7 6 5 4 3
- 28cos(x) - 21cos(x) - 14cos(x) - 1lcos(x) - 8cos(x) - 4cos(x)

\lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

24 22 20 18 16
16cos(x) + 80cos(x) + 208cos(x) + 360cos(x) + 456cos(x)

14 12 10 8 6
456co0s (x) + 368cos(x) + 232cos(x) + 104cos(x) + 24cos(x)

4
sin(x)

26 24 22 20 18
48cos (x) + 192cos(x) + 448cos(x) + 680cos (%) + 800cos (x)

16 14 12 10 8

768cos (x) + 672cos(x) + 528cos(x) + 368cos(x) + 232cos(x)
+

6 4
112cos(x) + 48cos(x)

2
sin(x)

28 26 24 22 20

32cos(x) + 96cos(x) + 192cos(x) + 208cos(x) + 176cos(x)

18 16 14 12 10

17
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64cos (x) + 16cos(x) - 48cos(x) - 48cos(x) - 64cos(x)

8 6

- 32cos(x) - 16cos(x)

26 25 24 23 22
12cos(x) + 24cos(x) + 60cos(x) + 96cos(x) + 144cos(x)

21 20 19 18
192cos(x) + 216cos(x) + 240cos(x) + 228cos(x)

17 16 15 14
216cos(x) + 192cos(x) + 168cos(x) + 144cos(x)

13 12 11 10 9
120cos (x) + 96cos(x) + 72cos(x) + 48cos(x) + 24cos(x)

8
12cos(x)

4
sin(x)

28 27 26 25 24
24cos (x) + 48cos(x) + 96cos(x) + 144cos(x) + 192cos(x)

23 22 21 20
240cos (%) + 228cos(x) + 216cos(x) + 240cos(x)

19 18 17 16
264cos(x)  + 288cos(x) + 312cos(x) + 363cos(x)

15 14 13 12
414cos(x)  + 336cos(x) + 258cos(x)  + 201cos(x)

11 10 9 8 7
144cos(x) + 81lcos(x) + 18cos(x) + 27cos(x) + 36cos(x)

6 5 4 3 2
24cos(x) + 12cos(x) + 9cos(x) + 6cos(x) + 3cos(x)

2
sin(x)

30 29 28 27 26

12cos(x) + 24cos(x) + 36cos(x) + 48cos(x) + 60cos(x)

25 24 23 22 21

72cos (x) + 48cos(x) + 24cos(x) + T72cos(x) + 120cos(x)

18



20 19 18 17 16

96cos(x)  + T2cos(x) + 87cos(x) + 102cos(x) - 27cos(x)
+
15 14 13 12 11
- 156cos(x) - 129cos(x) - 102cos(x) - 117cos(x) - 132cos(x)
+
10 9 8 7 6

- 45cos(x) + 42cos(x) + 27cos(x) + 12cos(x) + 24cos(x)

5 4 2
36cos(x) + 18cos(x) + 3cos(x) + 6cos(x) + 3

| === e \lcos(x) + cos(x) +1

\lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

24 23 22 21 20
24cos (x) + 48cos(x) + 120cos(x) + 192cos(x) + 288cos(x)

19 18 17 16
384cos(x) + 432cos(x) + 480cos(x) + 432cos(x)

15 14 13 12
384cos(x) + 288cos(x) + 192cos(x) + 120cos(x)

11 10
48cos (x) + 24cos(x)

4
sin(x)

26 25 24 23
72cos (x) + 144cos(x) + 288cos(x) + 432cos(x)

22 21 20 19
600cos (x) + 768cos(x) + 768cos(x) + 768cos(x)

18 17 16 15
672cos (x) + 576cos(x) + 432cos(x) + 288cos(x)

14 13 12 11
270cos (x) + 252cos(x) + 216cos(x) + 180cos(x)

10 9 8 7 6
162cos (x) + 144cos(x) + 90cos(x) + 36cos(x) + 24cos(x)

5 4

19



--R 12cos(x) + 6cos(x)

--R 2
--R sin(x)

--R 28 27 26 25 24
--R 48cos (x) + 96cos(x) + 144cos(x) + 192cos(x) + 240cos(x)

--R 23 22 21 20 18
--R 288cos (x) + 192cos(x) + 96cos(x) + 48cos(x) - 96cos(x)

--R 17 16 15 14 13
--R - 192cos(x) - 132cos(x) - T2cos(x) - 108cos(x) - 144cos(x)

--R 12 11 10 9 7
--R - 84cos(x) - 24cos(x) - 36cos(x) - 48cos(x) + 48cos(x)

--R 6 5 4 3 2
--R 36cos(x) + 24cos(x) + 24cos(x) + 24cos(x) + 12cos(x)

--R e -— -— —-—

--R | 4 2

--R | 16cos(x) + 16cos(x) + 16

—-R [— —— — —

--R | 4 3 2

--R \lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

--R Type: Expression(Integer)

0.6 Problem 6

--S 26 of 250
t0006:= tan(x)*sqrt(1+tan(x)"4)

--R (23) tan(x)\l|tan(x) + 1
--R Type: Expression(Integer)
--E 26

--S 27 of 250

20



r0006:= -1/2*asinh(tan(x)~2)-atanh((1-tan(x)"2)/(sqrt(2)*sqrt(1l+tan(x)~4)))/_
sqrt (2)+1/2*sqrt (1+tan(x) ~4)

--R tan(x) -1 +=+ | 4 +-+ 2
--R 2atanh(---------=--——--—- ) +\l2 \ltan(x) + 1 - \|2 asinh(tan(x) )

--R +=+ | 4

--R (28) --- S e

--R Type: Expression(Integer)
--E 27

--S 28 of 250
a0006:= integrate(t0006,x)

--R (25)

__R -

--R +-+
--R \ 12

--R log

--R +-+ 4 +—+ 2 |2cos(x) - 2cos(x) + 1
--R (4\12 cos(x) - 2\|2 cos(x) ) |--- -—- -
--R | 4

R \| cos(x)

--R 4 2
--R 8cos(x) - 8cos(x) + 3

--R log

--R +- - ——t

--R | 4 2

--R 4 2 |2cos(x) - 2cos(x) + 1 4
--R (2cos(x) - 2cos(x) ) |- ---- + 3cos(x)
--R | 4

--R \ cos(x)

--R 2
--R - 4cos(x) + 2

--R 4
--R cos(x)

21



--R [2cos(x) - 2cos(x) + 1
--R A\ cos(x)

--R Type: Union(Expression(Integer),...
--E 28

--S 29 of 250

m0006:= a0006-r0006

--R  (26)
__R -

--R log

--R +-+ 4 +-+ 2 |2cos(x) - 2cos(x) + 1
--R (4\12 cos(x) - 2\|2 cos(x) ) |--- -—- -
--R | 4

--R \ cos(x)

--R 4 2
--R 8cos(x) - 8cos(x) + 3

--R +-+
--R \12

--R log

--R 4 2 |2cos(x) - 2cos(x) + 1 4
--R (2cos(x) - 2cos(x) ) |---- -—= - + 3cos(x)
--R | 4

--R \ cos(x)

--R 2
--R - 4cos(x) + 2

--R 4
--R cos(x)

--R tan(x) -1 +-+ | 4
--R - 4atanh(-—--------—--——-——- ) - 2\|2 \|tan(x) + 1
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--R +-+ | 4
--R \I2 \|tan(x) + 1

--R +-+ |2cos(x) - 2cos(x) + 1 +—+ 2
--R 2\|2 |- + 2\12 asinh(tan(x) )

--R A\ cos(x)

--R +-+

--R 4\12

--R Type: Expression(Integer)
--E 29

--S 30 of 250

d0006:= D(m0006,x)

--R (27
--R +—+ 8 +-+ 6 +—+ 4 +—+ 2
--R (8\12 cos(x) - 12\]|2 cos(x) + 8\[|2 cos(x) - 2\|2 cos(x) )sin(x)

--R \ cos(x)

--R 8 6 4 2
--R (16cos(x) - 32cos(x) + 30cos(x) - 14cos(x) + 3)sin(x)

--R \ltan(x) + 1

--R 9 7 5 5
--R (- 8cos(x) + 8cos(x) - 3cos(x) )tan(x)

--R 9 7 5
--R (- 8cos(x) + 8cos(x) - 3cos(x) )tan(x)

--R \ | cos(x)

23



--R +—+ 9 +—+ 7 +—+ 5 +—+ 3 5
--R (- 8\]2 cos(x) + 12\]2 cos(x) - 8\|2 cos(x) + 2\|2 cos(x) )tan(x)

--R +—+ 9 +—+ 7 +—+ 5 +—+ 3
--R (- 8\]2 cos(x) + 12\]2 cos(x) - 8\|2 cos(x) + 2\|2 cos(x) )tan(x)

--R 9 7 5 |2cos(x) - 2cos(x) + 1
--R (8cos(x) - 8cos(x) + 3cos(x) ) | e
--R | 4

--R \ | cos (x)

--R +—+ 9 +—+ 7 +—+ 5 +—+ 3
--R 8\[2 cos(x) - 12\]2 cos(x) + 8\|2 cos(x) - 2\[|2 cos(x)

--R \ltan(x) + 1
--R Type: Expression(Integer)

0.7 Problem 7

--S 31 of 250
t0007:= tan(x)/sqrt(1+sec(x)"3)

--R \lsec(x) + 1
--R Type: Expression(Integer)
--E 31

--S 32 of 250
r0007:= -2/3*atanh(sqrt(1+sec(x)~3))
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|
2atanh (\|sec(x)

3
+ 1)

(29)

3
--E 32

--S 33 of 250
a0007:= integrate(t0007,x)

(30)
log
6
(- 4cos(x)

5
- 4cos(x) - 2

+___
| 2
|4cos(x) - 4cos(x) + 4

—+

cos(x) + cos(x)

6 3

8cos(x) + 8cos(x) + 1

--E 33

--S 34 of 250
m0007:= a0007-r0007

(31)

log
6 5
(- 4cos(x) - 4cos(x)

|4cos(x) - 4cos(x) + 4

cos(x) + cos(x)

6 3

8cos(x) + 8cos(x) + 1

25

Type: Expression(Integer)

3
cos(x)

2
- 2cos(x) )

Type: Union(Expression(Integer),...

3
2cos(x)

2
- 2cos(x) )



--E 34

--S 35
d0007:

0.8

--S 36
t0008:

--E 36

+
e +
| 3
4atanh(\|sec(x) + 1)
6
Type: Expression(Integer)
of 250
= D(m0007,x)
(32)
e +
o + | 2
| 3 |4cos(x) - 4cos(x) + 4
- 2sin(x)\lsec(x) + 1 + (- cos(x) - 1)tan(x) | -—- -——
| 2
\ cos(x) + cos(x)
- +
| 2 o +
l4cos(x) - 4cos(x) + 4 | 3
(cos(x) + 1) |-———————————mmmmmmm \lsec(x) +1
| 2
\l  cos(x) + cos(x)

Type: Expression(Integer)

Problem 8

of 250
= sqgrt(tan(x) "2+2*tan(x)+2)

(33) \ltan(x) + 2tan(x) + 2
Type: Expression(Integer)
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--S 37

of 250

r0008:= asinh(l+tan(x))+sqrt(1/2*(1+sqrt(5)))*_

--E 37

--S 38

atan(((-sqrt(-1+sqrt(5)))+sqrt(1+sqrt(5))*tan(x))/_
(sqrt (2)*sqrt(2+tan(x) *(2+tan(x)))))-_

sqrt(1/2*%(~1+sqrt(5)) ) *_

atanh((sqrt (1+sqrt(5))+sqrt(-1+sqrt(5))*tan(x))/_
(sqrt(2) *sqrt (2+tan(x) *(2+tan(x)))))

(34)
R + pmmm e +
Fo—— + | +-+ | +—+
| +-+ AN+ 1+ tan(x)\I\I5 -1
- \I\I6 - 1 atanh(-—---——-——————————————————————— )
e +
+-+ | 2
\I2 \ltan(x) + 2tan(x) + 2
+
fomm + e +
+——— + | +-+ | +-+
| +-+ tan(\I\I6 + 1 - \I\I5 -1 +=+
\I\I5 + 1 atan(---—---————————————-——mm ) + \|2 asinh(tan(x) + 1)
+-- - -+
+—+ | 2
\I2 \ltan(x) + 2tan(x) + 2
+—+
\ 12
Type: Expression(Integer)
of 250

a0008:= integrate(t0008,x)

(35)
[
4+-+ atan(2)
\I5 cos(-==--—- )
2
*
log
4+-+3 9 4+-+3 7
- 38400\ |5 cos(x) + 451328\|5 cos(x)
+
4+-+3 5 4+-+3 3
- 169072\ |5 cos(x) - 134856\|5 cos(x)
+

4+-+3
- 3760\ 15 cos(x)

27



at

(- 39040

4
(184768\

4+-
(6952\ |5
(- 61356

4
(- 3074\

sin(x)

- 211200

4+
322352\ |

4
- 35408\

atan(2

4+-+
(- 94720\ |5

4+-+3
(19584\ |5

4+-+3
(182464\ 15

4+—+
(- 63684\ |5

4+—+
(- 21759\ 15

an(2) 2
----- )
2
4+-+3 4+-+ 9
\I5 + 640\[5 )cos(x)
+-+3 44—+ 7
|5+ 266560\|5 )cos(x)
+3 4+-+ 5

- 204600\ |5 )cos(x)
4+-+3 44—+
\I5 - 157740\|5 )cos(x)
+-+3 44—+
|5 - 5820\|5 )cos(x)
4+-+3 10 44
\I5 cos(x) + 203904\ 15
-+3 6 4+-+3
5 cos(x) - 233648\|5 «c
+-+3 2
|5 cos(x)
) 2
-)
3 44—+ 10

- 116480\ |5 )cos(x)

4+-+ 8
+ 184320\ |5 )cos(x)

4+—+ 6
+ 208720\ |5 )cos(x)

3 4+—+ 4
- 247100\ |5 )cos(x)

3 4+—+ 2
- 46975\ |5 )cos(x)

28

3

+3

os(x)



4+-+3 9 4+-+3 7
211200\ |5 cos(x) + 11904\|5 cos(x)

4+-+3 5 4+-+3 3
- 568096\ |5 cos(x) - 103208\|5 cos(x)

4+-+3
- 80\|5 cos(x)

atan(2) 3

4+-+3 4+—+ 9
(83200\|5 + 505600\15 )cos(x)

4+-+3 44—+ 7
(580352\ 15  + 604160\|5 )cos(x)

4+-+3 44—+ 5
(- 500976\ |5 - 1653200\ |5 )cos(x)
"
4+-43 44—+ 3
(- 239244\ |5 - 497740\ 15 )cos(x)
"
4+-+3 4+—+
(- 7102\|5 - 10480\|5 )cos(x)
*
atan(2)
cos(-——---- )
2
sin(x)
4+-+3 10 4+-+3 8

- 38400\ |5 cos(x) + 572672\|5 cos(x)

4+-+3 6 4+-+3 4
- 276464\15 cos(x) - 331064\|5 cos(x)

4+-+3 2
- 13344\|5 cos(x)

atan(2) 3

29



4+-+3 4+—+ 10
(- 342400\|5 - 419200\|5 )cos(x)
+
4+-+3 4+-+ 8
(627136\15 + 1772480\|5 )cos(x)
+
4+-+3 4+—+ 6
(244464\15 - 266640\|5 )cos(x)
+
4+-+3 4+—+ 4
(- 459800\|5 - 1168280\|5 )cos(x)
+
4+-+3 4+-+ 2
(- 62635\|5 - 110195\|5 )cos(x)
*
atan(2)
cos(——-—--- )
2
+-—= ———— +
| 2
|2cos(x)sin(x) + cos(x) + 1
| —_ NP
| 2
\ cos(x)
4+-+2 9
(79104\|5 + 1228800)cos(x)
"
4+-+2 7
(- 1115328\|5 - 1857600)cos(x)
"
4+-+2 5
(335640\ |5 - 1628200)cos(x)
"
4+-+2 3

(639072\15 + 947080) cos(x)

4+-+42
(64992\|5 + 147580)cos(x)

atan(2)

cos(————---- )sin(x)

4+-+2 10
(483072\15 + 358400)cos(x)

4+-+2 8

30



(- 411840\|5 + 2104000)cos(x)

4+-+2 6
(- 1076712\156 - 3359000)cos(x)
+
4+-+2 4

(679732\15  + 91940)cos(x)

4+-+2 2 4+-+2
(271292\|5  + 534070)cos(x) + 6656\|5 + 16540

atan(2)
cos(-———--- )
2
atan(2)
sin(-——----- )
2
4+-+2 9
(- 246528\ |5 - 358400) cos(x)
+
4+-+2 7
(- 1667904\ |5 - 3089600) cos (x)
+
4+-+2 5

(1801320\|5 + 3027400)cos(x)

4+-+2 3
(1139496\|5  + 2216640)cos(x)

4+-+2
(61656\|5 + 133640)cos(x)

atan(2) 2

4+-+2 9
(- 55936\ |5 + 292480)cos(x)

4+-+2 7
(- 549568\|5 - 1127360)cos(x)

4+-+2 5
(424480\15 + 168880)cos(x)
"
4+-42 3 4+-42
(409732\15 + 790380)cos(x) + (41322\|5 + 94610)cos(x)
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sin(x)

4+-+2
(708096\ |5

4+-
(- 1675520\ |5

4+~
(- 1078016\ |5

4+-+2
(1846276\ |5

4+-+2
(360756\ 15

atan(2) 2

4+-+2
(260352\|5  + 36

4+-+2
(- 428592\|5 -

4+-+2
(503512\ |5 + 69

4+-+2

4451\|5 + 10610

(2598

(- 63

(- 32

(- 95

sin(x)

4+-
(30912\ |5

10
+ 1228800) cos(x)
+2 8
- 2707200) cos (x)
+2 6
- 2334000) cos (x)
4

+ 3353220) cos (x)

2 4+-+2
+ 738960)cos(x) + 4208\|5

10 4+~
8640)cos(x)  + (- 468800\|5

6
1392000) cos (x)

4 4+-+42
9440)cos(x) + (169147\|5

4+-+3 4+-+ 7

4\|5 + 55680\|5 )cos(x)
4+-+3 4+-+

008\|5 - 136480\|5 )cos(x)
4+-+3 4+-+ 3

640\ |5 - 73760\|5 )cos(x)

4+-+3 4+-+

2\|5 - 2240\|5 )cos(x)

+3 4+-+ 8

+ 66240\ |5 )cos(x)

32

+ 9720

+2
- 4800)cos(x)

2
+ 364435)cos(x)

5

8



4+-+3 4+—+ 6
(20000\ |5 + 46240\|5 )cos(x)

4+-+3 4+-+ 4
(- 60112\|5 - 132640\|5 )cos(x)
"
4+-+3 4+—+ 2
(- 8600\|5 - 19840\|5 )cos(x)
atan(2)
sin(-----—- )
2
4+-+3 4+-+ 7
(44352\|5 + 95040\|5 )cos(x)
.
4+-+3 4+-+
(- 101984\|5 - 220640\|5 )cos(x)
.
4+-+3 4+-+ 3
(- 54000\|5 - 122080\|5 )cos(x)
.
4+-+3 44—+
(- 1496\|5 - 3520\|5 )cos(x)
*
atan(2)
cos(-—----- )sin(x)
2
4+-+3 4+-+ 8

(47936\ |5 + 102720\|5 )cos(x)

4+-+3 4+-+ 6
(37120\|5 + 85120\|5 )cos(x)

4+-+3 4+-+ 4
(- 99536\|5 - 219520\|5 )cos(x)
+
4+-+3 4+—+ 2
(- 14000\|5 - 32320\|5 )cos(x)
*
atan(2)
cos(——----- )
2
e +
| 2

5



\ | cos(x

4+~
- 143488\ (5
+

4+-+2
246752\ 15

cos(-———--- )s

A+-+

- 45184\ |5

4+-+2
258464\ |5

4+-+
- 73984\|5
"
4+-+2
129536\ |5

atan(2) 2

44-+2
(- 124288\|5

44-+2

)

+2
cos(x

3
cos(x)

in(x)

2

cos(x)

4
cos(x)

2
cos(x)

3
cos(x)

)

8

7

7 4+
+ 156480\ |

4+-+2
+ 24736\ |5

4+-
- 256768\ |5

4+-+
+ 105024\ 15

4+—+
+ 71040\ |5

4+-+2
+ 12448\ |5

7

- 180480) cos (x)

5

(136000\15 + 192000)cos(x)

+
44-+2

3

(213952\ 15 + 311520)cos(x) + (2145

sin(x)

4+—+2
- 14912\|5 cos

8

4+-+2

(x) - 141824\|5 co

34

—-+2

5

5 cos(x)

cos(x)

+2

6

cos(x)

2
cos(x)

2
cos(x)

cos(x)

4+-+2
6\|5

6
s(x)

2 4+-+2
+ 2464\ |5

5

+ 30960) cos(x)



log

4+-+2 4 4+-+2
131952\ |5 <cos(x) + 54832\|5 cos
*
atan(2) 2
cos(-—————- )
2
+
4+-+2 8
(- 39584\|5 - 52640)cos(x)
+
4+-+2 6
(- 222208\15 - 327680)cos(x)
+
4+-+2 4

(224184\|5 + 324440)cos(x) + (91064

4+-+2
2144\|5  + 3045

4+—+ 2 atan(2) 4+-+2

- 4\|5 cos(x) sin(------- ) + 2\|5 ¢

4+-+ 2 atan(2)
- 2\|5 cos(x) cos(------- )

44—+ 44—+ 2
(- 4\ |5 cos(x)sin(x) - 2\|5 cos(x) )sin(

44—+ atan(2) 4+-+2

2 4+-+2
(x) + 1152\|5

4+-+2
\I5 + 132440)cos(x)

os(x)sin(x)

atan(2)

(- 2\ 15 cos(x)cos(-———--- ) + 2\|5 cos(x))sin(x)

4+-+ 2 atan(2) 4+-+2
4\ |5 cos(x) cos(-——----- ) + (\I5 + 5)co

35

2 4+-+2
s(x) + 2\|5

2



\I5

log

log
4+-+ 2 atan(2) 44-+2
- 4\|5 cos(x) sin(--—----- ) - 2\|5 cos(x)sin(x)
2
+
4+-+ 2 atan(2)
- 2\15 cos(x) cos(---—-—--- )
2
*
+—- e .
I 2
|2cos(x)sin(x) + cos(x) + 1
| —- e
I 2
\ cos(x)
"
4+ 4+-+ 2 atan(2)
(4\|5 cos(x)sin(x) + 2\|5 cos(x) )sin(-----—- )
2
"
4+-+ atan(2) 44—+
(2\ 15 cos(x)cos(-———--- ) + 2\|5 cos(x))sin(x)
2
"
4+—+ 2 atan(2) 4+-+2 2 44+-42
- 4\I5 cos(x) cos(-—--—-- ) + (\I6 + B)cos(x) + 2\[5
2
4+-+ atan(2)
sin(------- )
2
44—+ 44—+ 2 atan(2)
(- 2\I5 cos(x)sin(x) - 2\|5 cos(x) )sin(------- )
2
+
4+-+ atan(2) 44—+ 2 atan(2)
- 2\|5 cos(x)cos(-———--- )sin(x) - 4\I|5 cos(x) cos(-----—--
2 2
*
PR —_— ey
[ 2
|2cos(x)sin(x) + cos(x) + 1
| -— —_
| 2
\ | cos(x)
"

36



4=
(2\15

44—+
2\|5 co

atan

4+—+
2\|5 si

atan

+2
+ 6)cos(x)sin(x) + (

atan(2)
s(------- )

4442
\I5 + 3)cos(x)

2 4+-+2
+\15

4+—+ |2cos(x)sin(x) + cos(x) + 1
\I5 cos(x)sin(x) |-----—--——--—m-mmmmmmmmmm o

I
A\

(- 2cos(x)sin(x) - cos(

atan(2)
- cos(x)cos(———---- )sin

4+—+ 2 |2cos(x)sin

2 atan(2)

x) - 1)sin(----

2
(x) + (2cos(x)

at
- 1)cos(--

\I5 cos(x) |-————————mmmmmmm——

(cos(x)sin(x) - 2cos(x)

atan(2)
- 2cos(x)cos(-——---- )si

atan(2)
n(------- )

4+-+3
(72\I5 -

4+-+3
(- 110\I5

37

2 atan(2)

+ 1)sin(------

n(x) + (- cos(x)

P r— 5
88\ |5 )cos(x)

4+—+
- 62\15 )cos(x)

2
- 1)cos(

3

+ 2

an(2)

atan(2)



+
4+-+3 4+—+
(- 15\15 - 36\15 )cos(x)
*
sin(x)
i
4+-+3 4+—+ 6

(96\|5 + 16\|5 )cos(x)

4443 de—+ 4
(- 8\I5 + 76\I|5 )cos(x)

4+-+3 44—+ 2
(- 68\I5 - 107\I5 )cos(x)
*
atan(2)
sin(-——---- )
2
4+-+3 44—+ 5
(- 96\|5 - 544\|5 )cos(x)
+
4+-+3 44—+ 3
(- 40\|5 + 144\|5 )cos(x)
+
4+-+43 44—+
(8\15 + 27\I|5 )cos(x)
atan(2)
cos(-———--- )sin(x)
2
4+-43 4+ 6

(72\15  + 8\I|5 )cos(x)

4+-+3 44—+ 4
(- 146\|5 - 362\|5 )cos(x)
+
4+-+3 4+-+ 2

(17\15  + 144\ |5 )cos(x)

38



\ | cos(x)

4+-+2 5

4+-42

- 240\ |5 cos(x) + 540\|5

+
4+-+2
202\|5 cos(x)

cos(-——---- )sin(x)

4442 6 442
|5 cos(x)

- 320\|5 cos(x) - 120\

4+-+2 2 4+
476\|5 cos(x) + 30\I5

4+-+2 5 4+-+
(320\|5 cos(x) + 280\|5

atan(2) 2

4+-+2 5
(56\ 15 + 440)cos(x) + (78

4+-+2
(79\15 - 110)cos (%)

sin(x)

4+-+2 6 4+-+2
- 240\|5 cos(x) + 660\|5

4+-+2
- 50\I5

atan(2) 2

39

2

2

cos(x)

44-+2
\I5

cos (%)

3

cos(x)

4

4+-+2

- 184\ |5

- 170)cos (%)

4+-+2

- 122\|5

cos(x))

3

cos(x)



4+-+2
(- 192\|5 - 80)

4+-+2
(69\15 - 290)co

4+
(96\|

4+
(40\|

4
(- 8\

sin(x)

4+—+
(- 72\15

4+-+3
(146\15

4+—-+
(- 17\15

4+-+3
(72\ 15

4+~
(- 110\I5

4+-+
(- 15\15

4+-+3
(96\15

4+-+3
(- 8\I5

6 4+-+2
cos(x) + (100\|5
2 4+-+2
s(x) + 26\|5 - 10
-+3 4+—+ 5

5 + 16\|5 )cos(x)

-+3 44—+
5 - 204\ 15 )cos(x)

+-+3 44—+
|15 - B9\ |5 )cos(x)

3 4+—+ 6
+ 88\|5 )cos(x)

44—+ 4
+ 34\ |5 )cos(x)

3 4+-+ 2
- 192\ |5 )cos(x)

44—+ 5
+ 8\|5 )cos(x)

+3 4+-+ 3
- 822\ |5 )cos(x)

3 44—+

- 92\|5 )cos(x)

)sin(x)

4+t 6

+ 544\ |5 )cos(x)

P a
- 368\|5 )cos(x)

40

+ 480)cos(x)

3

4



4+-+3 4+t 2

(- 68\|5 - 451\|5 )cos(x)
*
atan(2)
cos(——————- )
2
o - -+
| 2

44-+2 5 44-+2 3
- 320\|5 cos(x) - 280\|5 cos(x)
+

4+-+2
184\ |5 cos(x)

cos(-——---- )sin(x)

44-+2 6 44-+2 4 44-+2 2

240\|5 cos(x) - 660\|5 cos(x) + 122\|5 cos(x)

4+-+2
50\ |5

atan(2)

4+-+2 5 4+-+2 3
- 240\|5 cos(x) + 540\|5 cos(x)

4+-+2
202\ 15 cos(x)

atan(2) 2

4+-+2 5 4+-+2 3
(- 192\|5 - 80)cos(x) + (228\|5 + 920)cos(x)

41



4+-+2
(151\|5 + 320)cos(x)

sin(x)

4+-+2 6 4+-+2
- 320\|5 «cos(x) - 120\I|5

4+-+2
30\ 15

atan(2) 2

4+-+2 6
(- 56\|5 - 440)cos(x) + (- 21

4+-+2 2 44—+
(283\ 15 + 760)cos(x) + 32\I[5

4+—+ atan(2)
\I5 sin(------- )

log
4+-+3 44—+
((6\I15 - 10\I5 )cos(x)

4+-+3 44—+ 4
(8\15 + 20\I|5 )cos(x)

4+-+3 44—+ 3
((8\I5 - 20\|5 )cos(x)

cos(-—----- )sin(x)

4+-+3 44—+
(- 6\15 - 10\ |5 )cos(x

42

4
cos(x)

4+-+2
8\|5
2
+ 50
3 4+
- 2\|
4+
- 10\|
4+~
+ (4\|5
4
)

4+-+2 2
+ 476\|5 cos(x)

4
+ 30)cos(x)

_+3
5 cos(x))sin(x)

-t 2
5 cos(x)

+3 4+—+
+ 10\ |5 )cos(x))



4
(10\

+-+3

4+—+

2

|5  + 10\|5 )cos(x)

|2cos(x)sin(x) + cos(x)

I
A\

4+-
(- 12\15

4+-+2
(- 16\15

4+-+2
(24\ 15

44—+

- 12\|5
sin(x)
44-42

(32\ 15 cos(

4+-+2

- 16\|5 cos

((24

4
(32\

cos(x)
+2

cos(x)

4
cos(x)

3
cos(x)

2 3
cos(x)

4 4
x) - 8\

4
=) + (

4+-+3

3 4+
+ 12\

4+-+2
+ 4\ |5

4+-+
- 24\15

4+-
+ (2\15

+-+2
|5 cos(

4+-+2
- \I5

4+—+

)
5 cos(x))cos(

2 4+-
cos(x) + 4\|5

2 at
cos(x))cos(—-

+2
- 30)cos(x)

2 4+-+2
x) - 8\|5 )c

2
- 15)cos(x) -

3 44—+

\I5 + 40\ |5 )cos(x) + 8\|5

+-+3

44—+

4

|5 - 80\ |5 )cos(x)

4+-+3

43

4+—+

atan(2)
——————— )sin(x)

+2 atan(2)
)cos(———----

an(2) 2

atan(2) 2
os(-—----- )

4+-+2

\I5 - 10

3
cos(x))sin(x)



(- 12\|5 + 100\|5 )cos(x)

atan(2)
sin(------- )
2
+
44-+3 L4—+ 3 4+-+3 44—+
((32\15 + 80\|5 )cos(x) + (4\|5 + 20\|5 )cos(x))
*
atan(2)
cos(———---- )sin(x)
2
+
4+-+3 4+ 4
(- 24\15 + 40\|5 )cos(x)
+
4+-+3 4+ 2
(44\|5 + 20\|5 )cos(x)
*
atan(2)
cos (-———--- )
2
+——- -— -+

|2cos(x)sin(x) + cos(x) + 1

[——— — _
| 2
\ cos(x)

4+-+2 3 4+-+2

(- 64\|5 cos(x) + (- 16\|5 - 80)cos(x))

cos(———---- )sin(x)

4+-+2 4 4+-+2 2 4442
48\ |5 cos(x) + (- 72\|5 - 40)cos(x) + 8\I|5

44



4+-+42 3 4+-+2 atan(2) 2

(- 32\|5 cos(x) + (- 8\I|5 - 40)cos(x))cos(———---- )
2
+
44-+2 3 4+—+2
(16\15 - 240)cos(x) + (- 56\|5 - 40)cos(x)
sin(x)
4+-+2 4 44-+2 2 4+-+2
(24\ 15 cos(x) + (- 36\|5 - 20)cos(x) + 4\|5 - 20)
atan(2) 2
cos(———---- )
2
4+-+2 4 4+-+2 2
(- 12\|5 + 180)cos(x) + (- 12\|5 - 260)cos(x)
4+-+2
- 17\|5 + 5
44—+ 2 atan(2) 4+-+2
- 4\ |5 cos(x) sin(-—-----—- ) + 2\|5 cos(x)sin(x)
2
4+—+ 2 atan(2)
- 2\|5 cos(x) cos(-—------ )
2
___________________________ +
2

4+-+ 4+-+ 2 atan(2)
(- 4\ |5 cos(x)sin(x) - 2\|5 cos(x) )sin(-—----- )

44—+ atan(2) 4+-+2
(- 2\ 15 cos(x)cos(-———--- ) + 2\|5 cos(x))sin(x)

2 atan(2) 4+-+2 2 4+-+42

4\ |5 cos(x) cos(-—----- ) + (\I5 + B)cos(x) + 2\I|5

45



4+
\I5

log

log
4+—+ 2 atan(2) 4+-+42

- 4\ |5 cos(x) sin(------- ) = 2\|I5 cos(x)sin(x)

4+-+ 2 atan(2)
- 2\|5 cos(x) cos(-—--—--—- )

+—= —————————— +
| 2
|2cos(x)sin(x) + cos(x) + 1
[-- R
I 2
\ cos(x)

44—+ 44—+ 2 atan(2)
(4\ 15 cos(x)sin(x) + 2\|5 cos(x) )sin(-——---- )

44—+ atan(2) 44-+2
(2\15 cos(x)cos(-——=——- ) + 2\|5 cos(x))sin(x)

44—+ 2 atan(2) 4+-+2
- 4\|5 cos(x) cos(-—----- ) + (\I5 + 5)cos(x)

+ atan(2)
sin(-——---- )

44—+ 4+—+ 2 atan(2)
(- 2\I5 cos(x)sin(x) - 2\I5 cos(x) )sin(-------

44—+ atan(2) 44—+

2

2

4+-+2
+ 2\|5

atan(2)

- 2\ |5 cos(x)cos(-——————- )sin(x) - 4\|5 cos(x) cos(-—-———--

PR -— ———t
| 2
[2cos(x)sin(x) + cos(x) + 1

46



I
\

4=
(2\15

44—+
2\|5 co

atan

44—+
2\|5 co

atan

2
cos(x)

+2 4+-+2
+ 6)cos(x)sin(x) + (\I5

atan(2)
s(-———--- )

+ 3)cos(x)

2 4+-+2
+\15

4+—+ |2cos(x)sin(x) + cos(x) + 1
\I5 cos(x)sin(x) |-----—--——--—m-mmmmmmmmm o

|
\ c

(- 2cos(x)sin(x) - cos(x) -

atan(2)
- cos(x)cos(-———---- )sin(x) +

4+—+ 2 |2cos(x)sin(x) +

atan(2)

1)sin(--—--

2
(2cos (%)

at
- 1)cos(--

\I5 cos(x) |-———————————-mm—mmmmmm oo

(cos(x)sin(x) - 2cos(x) + 1)

atan(2)
- 2cos(x)cos(-——---- )sin(x) +

atan(2)
s(-————-- )

4+-+2 2 atan(2)
\|5 cos(x) sin(-——-—---

47

atan(2)

sin(------

(- cos(x)

2
- 1)cos(

+ 2

an(2)

atan(2)



--R 4+-+2 atan(2)
--R - \I5 cos(x)cos(-—-—--- )sin(x)

--R 44—+ 44—+ 2 4+—+
--R \|15 cos(x)sin(x) - 2\|5 cos(x) + \I|5

R 2 atan(2)
R (cos(x)sin(x) - 2cos(x) )sin(------- )

--R atan(2) 2 atan(2)

--R 44—+ 44—+ 2 4+—+
--R 2\ |5 cos(x)sin(x) + \|5 cos(x) + \I|5

--R Type: Union(List(Expression(Integer)),...

--E 38
--S 39 of 250

m0008:= a0008.1-r0008

--R  (36)
--R +-+4+-+ atan(2)
--R \I2 \I5 cos(-——-—--- )

--R log
--R 4+-+3 9 4+-+3 7

48



--R - 38400\|5 cos(x) + 451328\|5 cos(x)
--R +

--R 4+-+3 5 4+-+3

--R - 169072\ |5 <cos(x) - 134856\|5 cos(x)
--R +

--R 4+-+3

--R - 3760\ |5 cos(x)

--R atan(2) 2

--R 44+-+3 4+-+ 9
--R (- 39040\|5 + 640\|5 )cos(x)

--R 4+-+3 44—+ 7
--R (184768\|5  + 266560\ |5 )cos(x)

--R 4+-+3 44—+ 5
--R (6952\ 15 - 204600\ |5 )cos(x)

--R 4+-+3 4+-+ 3
--R (- 61356\|5 - 157740\|5 )cos(x)

--R 4+-+3 4+—+
--R (- 3074\|15 - 5820\|5 )cos(x)

--R sin(x)

--R 4+-+3 10 4+-+3 8
--R - 211200\|5 cos(x) + 203904\|5 cos(x)

--R 4+-+3 6 4+-+3 a
--R 322352\ 15 cos(x) - 233648\|5 cos(x)

—-R 4+-+3 2
--R - 35408\|5 cos(x)

--R atan(2) 2

--R 4+-+3 4+-+ 10
--R (- 94720\15 - 116480\|5 )cos(x)

--R 4+-+3 4+—+ 8
--R (19584\ |5 + 184320\|5 )cos(x)

--R 4+-+3 4+—+ 6
--R (182464\|5 + 208720\|5 )cos(x)

49

3



4+-+3
(- 63684\|5 -

4+-+3
(- 21759\15 -

4+-+3
211200\15 ¢

4+-+
- 568096\ |5

4+-+3
- 80\|5 cos

atan(2) 3

4+-+3
(83200\ |5

4+-+3
(580352\ 15

4+-
(- 500976\15

4+-
(- 239244\15

4+-+3
(- 7102\15

4+-+3
- 38400\ |5 cos(

4+-+3
- 276464\|5 cos

4+-+ 4
247100\ 15 )cos(x)

4+-+ 2
46975\ |5 )cos(x)

9 4+-+3

os(x) + 11904\|5 cos(x)

3 5 4+-+3

cos(x) - 103208\|5 cos(x)

(%)

4+-+ 9
+ 505600\ |5 )cos(x)

4+-+ 7
+ 604160\ |5 )cos(x)

+3 4+-+
- 1653200\ 15 )cos(x)

+3 4+-+ 3
- 497740\ |5 )cos(x)

44—+
- 10480\ |5 )cos(x)

10 4+-+3
x) + 572672\ 15 cos(x

6 4+-+3
(x) - 331064\|5 cos(x

a0

5

8
)

4
)



4+-+3 2
- 13344\|5 cos(x)

atan(2) 3
cos (-———--- )
2
4+-+3 4+-+ 10
(- 342400\|5 - 419200\ |5 )cos(x)
+
4+-+3 4+-+ 8

(627136\15  + 1772480\|5 )cos(x)

4+-+3 4+—+ 6
(244464\|5 - 266640\|5 )cos(x)
+
4+-+3 4+-+ 4
(- 459800\|5 - 1168280\|5 )cos(x)
+
4+-+3 4+—+ 2
(- 62635\|5 - 110195\|5 )cos(x)
atan(2)
cos (-———--- )
2
___________________________ +
2

4+-+2 9
(79104\|5  + 1228800)cos(x)

4+-+2 7
(- 1115328\|5 - 1857600)cos(x)
.
4+-+2 5
(335640\|5 - 1628200)cos(x)
.
4+-+2 3

(639072\ |5  + 947080)cos(x)

4+-+2
(64992\|5 + 147580)cos(x)

atan(2)

o1



cos(-——---- )sin

4+-+2

(483072\15

44—+
(- 411840\ 1|5

4+4-
(- 1076712\15

4+-+2
(679732\ 15

4+-+2
(271292\ |5

4+-+
(- 246528\ |5

4+-
(- 1667904\ |5

4+-+2
(1801320\ 15

4+-+2
(1139496\ |5

4+-+2
(61656\15  +

atan(2) 2

4+-+2
(- 55936\|5 + 2

4+-+42
(- 549568\15 -

(x)

10
+ 358400) cos (x)

2 8
+ 2104000) cos (x)
+2 6
- 3359000) cos (x)

4

+ 91940)cos (x)

2 4+-+2
+ 534070)cos(x) + 6656\|5

2 9
- 358400)cos(x)
+2 7
- 3089600) cos (x)
5

+ 3027400) cos (x)
3
+ 2216640)cos (x)

133640) cos (x)

9
92480) cos (x)

7
1127360) cos (x)

92

+ 16540



4+-+2 5
(424480\15 + 168880)cos(x)
+
4+-+2 3 4+-+2
(409732\15 + 790380)cos(x) + (41322\|5 + 94610)cos(x)
sin(x)
4+-+2 10
(708096\15 + 1228800)cos(x)
n
4+-+2 8
(- 1675520\|5 - 2707200)cos (x)
n
4+-+2 6
(- 1078016\|5 - 2334000)cos(x)
n
4+-+2 4

(1846276\ |5 + 3353220)cos(x)

4+-+2 2
(360756\15  + 738960)cos(x)

4+-+2
+ 4208\15

atan(2) 2

4+-+2 10

(260352\|5 + 368640)cos(x) + (- 468800\|5

4+-+2 6

(- 428592\|5 - 1392000)cos(x) + (503512\|5

4+-+2 2
(169147\|5 + 364435)cos(x)

4+-+2
+ 4451\15

4+-+3 44—+ 7
(25984\|5 + 55680\|5 )cos(x)

4+-+3 4+-+
(- 63008\|5 - 136480\|5 )cos(x)

4+-+3 44—+ 3
(- 32640\|15 - 73760\|5 )cos(x)

4+-+3 4+-+
(- 952\ |5 - 2240\|5 )cos(x)

sin(x)

93

5

+ 9720

4+-+2 8

- 4800) cos(x)

4+-+2

+ 699440) cos(x)

+ 10610

4



4+-+3 4+-+ 8
(30912\ |5 + 66240\|5 )cos(x)

4+-+3 4+-+ 6
(20000\ |5 + 46240\|5 )cos(x)

4+-+3 4+-+
(- 60112\|15 - 132640\|5 )cos(x)
+
4+-+3 4+—+ 2
(- 8600\|5 - 19840\|5 )cos(x)
atan(2)
sin(------- )
2
4+-+3 4+-+ 7

(44352\|5 + 95040\ |5 )cos(x)

4+-+3 44—+
(- 101984\|5 - 220640\|5 )cos(x
"
4+-+3 4+-+
(- 54000\ |5 - 122080\|5 )cos(x)
"
4+-+3 4+-+
(- 1496\|5 - 3520\|5 )cos(x)
atan(2)
cos(———---- )sin(x)
2
4+-+3 4+-+ 8
(47936\ 15 + 102720\|5 )cos(x)
"
4+-+3 4+-+ 6
(37120\|5 + 85120\|5 )cos(x)
+
4+-+3 4+—+
(- 99536\15 - 219520\|5 )cos(x)
+
4+-+3 4+-+ 2
(- 14000\15 - 32320\|5 )cos(x)
atan(2)
cos(-——————- )

_____ —_ —_——

54

4

)

3

4



|
|2cos(x)sin(x)

2
+ cos(x)

\ | cos

4
- 143488\

4+-
246752\ 15

4+
- 45184\ |

4+~
258464\ 15

4+
- 73984\ |

4+-
129536\ |5

atan(2)

44—+
(- 124288\ |5

4+-+2
(136000\ |5

4+-+2
(213952\15

sin(x)

2
(x)

+=+2
|5 cos(x)

+2 3

cos(x)

)sin(x)

-+2 8

5 cos(x)

+2 4
cos(x)

-+2 7
5 cos(x)

+2 3
cos(x)

2

2
- 180480

+ 192000)c

+ 311520)c

95

+1

7 4+-
+ 156480\ 15

4+-+2
+ 24736\|5 ¢

4+-+
- 256768\15

4+-+2
+ 105024\ |5

4+-+2
+ 71040\ |5

44-+2
+ 12448\15 ¢

7
)cos(x)

5
os(x)

3
os(x) + (214

+2
cos(x)

os(x)

2 6
cos(x)

2
cos(x)

5
cos(x)

os(x)

4+-+2
56\ |5

5

4+-+2
+ 2464\15

+ 30960) cos (x)



4+-+2 8 4+-+2 6
- 14912\ |5 cos(x) - 141824\|5 cos(x)

4+-+2 4 4+-+2 2 4+-+2

131952\ |5 cos(x) + 54832\|5 cos(x) + 1152\|5

atan(2) 2
cos(-—-—---- )
2
4+-+2 8 4+-+2
(- 39584\ |5 - 52640)cos(x) + (- 222208\|5 - 327680)cos(x)
4+-+2 4 4+-+2 2

(224184\|5 + 324440)cos(x) + (91064\|5 + 132440)cos(x)

4+-+2
2144\|5 + 3045

44—+ 2 atan(2) 4+-+2
- 4\ |5 cos(x) sin(------- ) + 2\|5 cos(x)sin(x)

4+—+ 2 atan(2)
- 2\|5 cos(x) cos(-—------ )

+—= -— -—t
I 2
|2cos(x)sin(x) + cos(x) + 1
[-- — .
I 2
\ cos(x)

44—+ 4+-+ 2 atan(2)

(- 4\ |5 cos(x)sin(x) - 2\|5 cos(x) )sin(------- )

4+—+ atan(2) 4+-42

(- 2\ |5 cos(x)cos(-————-- ) + 2\|5 cos(x))sin(x)

4+—+ 2 atan(2) 4+-+2 2 4+-42
4\ |5 cos(x) cos(-—--—--- ) + (\I5 + B)cos(x) + 2\|5

o6

6



+—+
2\ 2
*
log
44—+ 2 atan(2) 4+-+2
- 4\ |5 cos(x) sin(------—- ) = 2\|5 cos(x)sin(x)
2
+
4+-+ 2 atan(2)
- 2\|5 cos(x) cos(-———----- )
2
*
e +
| 2
|2cos(x)sin(x) + cos(x) + 1
e ——
| 2
\ cos(x)
+
4+—+ 44—+ 2 atan(2)
(4\ |5 cos(x)sin(x) + 2\|5 cos(x) )sin(-—----- )
2
+
44—+ atan(2) 4+-+2
(2\ 15 cos(x)cos(-——-———- ) + 2\|5 cos(x))sin(x)
2
+
4+-+ 2 atan(2) 4+-+2 2
- 4\|5 cos(x) cos(-—----- ) + (\I5 + B)cos(x)
2
+—+4+—+ atan(2)
\l2 \|5 sin(-=——=---- )
2
log
4+-+ 44—+ 2 atan(2)
(- 2\15 cos(x)sin(x) - 2\|5 cos(x) )sin(-------
2
+
44—+ atan(2) 44—+ 2
- 2\|5 cos(x)cos(———---- )sin(x) - 4\|5 cos(x) cos(
2
*
+-= -_— -—t

| 2
|2cos(x)sin(x) + cos(x) + 1

o7



I
\ cos(

4+-+2

2
x)

4+-+2

(2\I5 + 6)cos(x)sin(x) + (\I5 + 3)cos(x)

+o—m————— + | +-+

[ +-+ \I\I5

+1 +

| +-+
tan(x)\I\I5 -1

4\I\|5 - 1 atanh(------==========mmmmmmmmm e )

+—+

N2\

+-—+4+-+ atan(2)
2\12 \ |5 cos(-——----

atan

4+—+
\15 cos(x)sin

(- 2cos(x)sin(x) - cos(x) - 1)sin(----

a
- cos(x)cos(-

|
|tan(x)

+ 2tan(x) + 2

2 4+-42
+\15

|2cos(x)sin(x) + cos(x) + 1

) |-
|
\

tan(2)
------ )

2
cos(x)

2 atan(2)

2
sin(x) + (2cos(x)

2

44—+ 2 |2cos(x)sin(x) + cos(x) +

\I5 cos(x) |

(cos(x)sin(x) - 2cos(x) + 1)sin(------

- 2cos(x)cos(

at
- 1)cos(--

atan(2)

2 atan(2)

)sin(x) + (- cos(x)

o8

2
- 1)cos(

+ 2

an(2)

atan(2)



+—+4+—+
2\ 12 \|5 sin(

atan

atan(2)
------- )
2
4+-+3 4+-+ 5
(72\I5 - 88\I5 )cos(x)
+
4+-+3 44—+ 3
(- 110\I5 - 62\|5 )cos(x)
+
4+-43 44—+
(- 15\|5 - 36\|5 )cos(x)
*
sin(x)
+
4+-+3 4+-+ 6
(96\|5 + 16\|5 )cos(x)
+
4+-43 y— 4
(- 8\I5 + 76\I|5 )cos(x)
+
4+-+3 44—+ 2
(- 68\|5 - 107\|5 )cos(x)
atan(2)
sin(------- )
2
4+-+3 4+-+ 5
(- 96\|5 - 544\|5 )cos(x)
+
4+-+3 4+-+ 3 4+-+3

(- 40\|5 + 144\|5 )cos(x) + (8\I5

cos(———---- )sin(x)

4+-+3 44—+ 6

(72\15  + 8\I|5 )cos(x)

4+-+3 44—+ 4
(- 146\|5 - 362\|5 )cos(x)

4+-+43 44—+ 2
(17\|5 + 144\|5 )cos(x)

atan(2)

99

4+-+

+ 27\|5 )cos(x)



I 2
\ cos(x)
4+-+2 5 4+
(- 240\|5 cos(x) + 540\|
*
atan(2)
cos(————---- )sin(x)
2
+
4+-+2 6 4
- 320\ |5 cos(x) - 120\
+
4+—+2
30\ 15
*
atan(2)
cos(———--——- )
2
atan(2)
sin(------- )
2
4+-+2 5 44—+
(320\ |5 cos(x) + 280\|5
*
atan(2) 2
cos(-———--- )
2
+
4+—+2 5
(56\15 + 440)cos(x) + (78
+
4+—+2
(79\I5 - 110)cos(x)
sin(x)
4+-+2 6 4+-+2
- 240\ |5 cos(x) + 660\|5
+
4+-+2

60

_+2

3 4+

5 cos(x) + 202\]|

+-+2

4 4

|5 cos(x) + 476\

2 3 4+-+
cos(x) - 184\|5
4+-+2
\I5 - 170)cos(x)
4 4+-+2
cos(x) - 122\]|5

_+2
5 cos(x))

+—+2
|5 cos(x)

2
cos(x))

3

2
cos(x)

2



- 50\|5

atan(2) 2

4+-+2
(- 192\|5 - 80)c

4442
(69\15 - 290)cos

4+4-
(96\15

4+4-
(40\ 15

4+
(- 8\l

sin(x)

4+-+3
(- 72\15

4+-+3
(146\15

4+-+3
(- 17\15

4+-+3
(72\15 +

44—+
(- 110\I5

4+-+3
(- 15\15

cos(———---- )

6 4+-+2
os(x) + (100\|5

2 4+-+2
(x) + 26\|5 - 10

+3 44—+ 5
+ 16\ |5 )cos(x)

+3 4+—+
- 204\ |5 )cos(x)

-+3 4+—+
5 - B9\|5 )cos(x)

- 6
+ 88\|5 )cos(x)

ya— 4
+ 34\ |5 )cos(x)

a+-+ 2
- 192\ 15 )cos(x)

4+-+ 5
8\ 5 )cos(x)

3 4+-+ 3
- 822\ 15 )cos(x)

44—+

- 92\|5 )cos(x)

sin(x)

44—+ 6

61

+ 480)cos(x)

3

4



(96\|5 + 544\|5 )cos(x)

+
4+-+3 4+—+ 4
(- 8\I5 - 368\|5 )cos(x)
+
4+-+3 4+—+ 2
(- 68\|5 - 451\|5 )cos(x)
*
atan(2)
cos(------- )
2
e +
I 2

I 2
\ cos(x)
4+-+2 5 4+-+2 3 4+-+2
(- 320\|I5 cos(x) - 280\|5 cos(x) + 184\|5 cos(x))
*
atan(2)
cos(———---- )sin(x)
2
+
4+-+2 6 4+-+2 4 4+-+2 2
240\ |5 cos(x) - 660\|5 cos(x) + 122\|5 cos(x)
+
4+—+2
50\ |5
*
atan(2)
cos(-——---- )
2
atan(2)
sin(-—----- )
2
4+-+2 5 4+-+2 3 4+-+2
(- 240\|5 cos(x) + 540\|5 cos(x) + 202\|5 cos(x))
*
atan(2) 2
cos (-———--- )
2
+
4+-+2 5 4+-+2 3
(- 192\|5 - 80)cos(x) + (228\|56 + 920)cos(x)
+

62



--R 4+-+2
--R (151\|5 + 320)cos(x)

--R sin(x)

--R 4+-+2 6 4+-+2 4 4+-+2 2
--R - 320\|5 cos(x) - 120\|5 cos(x) + 476\|5 cos(x)
--R +

--R 4+-+2

--R 30\ |5

--R atan(2) 2

--R 4+-+2 6 4+-+2 4
--R (- 56\|5 - 440)cos(x) + (- 218\|5 + 30)cos(x)

--R 4+-+2 2 44-+2
--R (283\15  + 760)cos(x) + 32\|5 + 50

--R Fom—————— + | +-+ | +-+
--R | +-+ tan(x)\I\I5 +1 - \I\|6 -1
--R - 4\I\I5 + 1 atan(-—--———-———-————-—————————————— )

--R +-+ | 2
--R \12 \ltan(x) + 2tan(x) + 2

--R +—+
--R - 4\|2 asinh(tan(x) + 1)

--R +—+

--R 4\12

--R Type: Expression(Integer)
--E 39

--S 40 of 250
--d0008:= D(m0008,x)
--E 40

0.9 Problem 9

63



--S 41 of 250
t0009:= sin(x)*atan(sqrt(sec(x)-1))

--R (37) sin(x)atan(\|sec(x) - 1)
--R Type: Expression(Integer)
--E 41

--S 42 of 250
r0009:= 1/2*atan(sqrt(-1+sec(x)))-atan(sqrt(-1+sec(x)))*cos(x)+_
1/2%cos (x)*sqrt (-1+sec(x))

--R (- 2cos(x) + 1)atan(\Isec(x) - 1 ) + cos(x)\|sec(x) - 1
--R  (38) --—- - -—- -—- -—

--R Type: Expression(Integer)
--E 42

--S 43 of 250

a0009:= integrate(t0009,x)

--R >> Error detected within library code:
--R failed - cannot handle that integrand

--R

--R  Continuing to read the file...
--R

--E 43

--S 44 of 250

--m0009:= a0009-r0009

--E 44

--S 45 of 250

--d0009:= D(m0009,x)

--E 45

0.10 Problem 10
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--S 46 of 250
t0010:= x"3%Ye"asin(x)/sqrt(1-x"2)

--R 3 asin(x)

--R X %he

--R Type: Expression(Integer)

--S 47 of 250
r0010:= 1/10%%e ~asin(x)* (3*x+x~3-3*sqrt(1-x"2)-3*x"2*sqrt(1-x72))

--R 2 | 2 3 asin(x)
--R ((-3x -3)\I-x +1 +x + 3x)le

--R Type: Expression(Integer)

--S 48 of 250
a0010:= integrate(t0010,x)

--R Type: Union(Expression(Integer),...)

--S 49 of 250
m0010:= a0010-r0010

--R  (42)
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--R ((-3x -3)\l-x +1 +x + 3x)%e

--R 2 | 2 3 asin(x)

--R (Bx +3\I-x +1 -x - 3x)%e

--R 10

--R Type: Expression(Integer)

--E 49

--S 50 of 250
d0010:= D(m0010,x)

--R Type: Expression(Integer)

0.11 Problem 11

ok
--S 51 of 250
t0011:= xxlog(1+x~2)*log(x+sqrt(1+x~2))/sqrt(1+x72)
--R
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--R 2 | 2
--R x log(x + Dlog(\Ix + 1 + x)
R (44) --- e e

--R Type: Expression(Integer)
--E 51

--S 52 of 250
r0011:= 4xx-2*atan(x)-2*sqrt(1+x~2)*log(x+sqrt (1+x~2))+_
log(1+x72) * (-x+sqrt (1+x"2) *log (x+sqrt (1+x72)))
--R (45)
--R 2 | 2 | 2 2
--R (log(x + 1) - 2)\Ix + 1 log(\lx + 1 + x) - x log(x + 1) - 2atan(x) + 4x
--R Type: Expression(Integer)
--E b2
--S 53 of 250
a0011:= integrate(t0011,x)
--R  (46)
--R 2 | 2 2 2 2

--R ((- x log(x + 1) +2x)\Ix + 1 + (x + 1log(x + 1) - 2x - 2)

--R | 2
--R log(\lx + 1 + x)

--R 2 | 2 2 2
--R (- x log(x + 1) - 2atan(x) + 4x)\|x + 1 + x log(x + 1) + 2x atan(x)

--R Type: Union(Expression(Integer),...)

--S 54 of 250
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m0011:= a0011-r0011

--R (47) 0
--R Type: Expression(Integer)
--E 54

--S 55 of 250
d0011:= D(m0011,x)

--R (48) ©
--R Type: Expression(Integer)
--E 55

0.12 Problem 12

--S 56 of 250
t0012:= atan(x+sqrt(1-x"2))

--R  (49) atan(\|-x +1 +x)
--R Type: Expression(Integer)
--E 56

--S 57 of 250

r0012:= -asin(x)/2+1/4*sqrt(3)*atan((-1+sqrt(3)*x)/sqrt(1-x"2))+_
1/4*sqrt (3)*atan((1+sqrt(3)*x) /sqrt (1-x"2))-_
1/4*sqrt (3)*atan((-1+2*x"2) /sqrt (3))+x*atan (x+sqrt (1-x"2))-_
1/4*atanh (x*sqrt(1-x~2))-1/8*log(1-x"2+x"4)

--R  (50)
--R - 2atanh(x\|- x + 1 ) + 8x atan(\|-x + 1 + x)
--R +—+ +—+

--R +-+ x\I3 +1 +-+ x\I3 -1 4 2
--R 2\[3 atan(----------- ) + 2\|3 atan(--—------—- ) - log(x -x + 1)
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--R 2 +—+
--R +—+ (2x - 1)\I3

--R Type: Expression(Integer)
--E 57

--S 58 of 250
a0012:= integrate(t0012,x)

--R (51)

--R | 2 4 2 | 2 4 2
--R - log(2x\|-x +1 -x +x +1) + log(-2x\|l-x +1 -x +x +1)
--R +

--R - 8x atan(-------———-———- ) + 2\|3 atan(-—--————————————- )

--R 2 -+
--R +-+ (2x - 1D\I3 X 4 2
--R 2\[3 atan(-------——-——-———- ) - 8atan(---------—- ) - 2log(x -x + 1)

--R -+ (2x - D\I3
--R 2\13 atan(------------- )

--R 16
--R Type: Union(Expression(Integer),...)
--E 58

--S 59 of 250

m0012:= a0012-r0012
--R
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(52)

+1 -x

4atanh(x\|- x

+-+

+-+

+-+ (2x - D\I3

+-+

16
--E 59

--S 60 of 250
d0012:= D(m0012,x)

- 2atan(\|- x + 1 + x)

+ X

2\ |3 atan(---—--———————————

2
+ 1)

+ 1) - 16x atan(\|- x

+-+

+ log(- 2x\|l- x +1 -

+1 + x)

- 8x atan(-—————————----- ) - 4\|3 atan(--——-—--—-——- )

- 4\|3 atan(-—--------- ) + 2\|3 atan(--—-——-—————-——-- )

4\|3 atan(---------—--- ) + 2\|3 atan(-—-—--————-——- ) + 8asin(x)

Type: Expression(Integer)



--R Type: Expression(Integer)

0.13 Problem 13

--S 61 of 250
t0013:= x*atan(x+sqrt(1-x~2))/sqrt(1-x"2)

--R  (54) --- - -

--R Type: Expression(Integer)
--E 61

--S 62 of 250

r0013:= -asin(x)/2+1/4*sqrt(3)*atan((-1+sqrt(3)*x)/sqrt(1-x"2))+_
1/4*sqrt (3)*atan((1+sqrt(3)*x) /sqrt(1-x72))-_
1/4*sqrt (3)*atan((-1+2%x"2) /sqrt(3))-sqrt (1-x"2) *atan(x+sqrt (1-x"2) ) +_
1/4*atanh (x*sqrt(1-x72))+1/8*log(1-x"2+x"4)

--R  (55)
--R 2atanh(x\|- x + 1) -8\|-x + 1 atan(\|l-x + 1 + x)
--R +—+ +-+

--R +-+ x\I3 +1 +-+ x\I3 -1 4 2
--R 2\[3 atan(----------- ) + 2\|3 atan(--—--—---——- ) + log(x -x + 1)
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--R 2 .
--R +-+ (2x - D\I3
--R - 2\ |3 atan(-———------——- ) - 4asin(x)

--R Type: Expression(Integer)
--E 62

--S 63 of 250

a0013:= integrate(t0013,x)

--R  (56)

--R log(2x\l-x +1 -x +x +1) - log(-2x\|l-x +1 -x +x + 1)

--R +o—— + | 2 2 +-+
--R | 2 \l-x +1 +x +—+ (2x - D\I3

--R +-+ (2x - 1D\I3 X 4 2
--R 2\[3 atan(-------——-——-———- ) - 8atan(---------—- ) + 2log(x - x + 1)

--R -+ (2x - D\I3
--R 2\13 atan(------------- )

--R 16

--R Type: Union(Expression(Integer),...)
--E 63

--S 64 of 250

m0013:= a0013-r0013

--R  (57)
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log(2x\I- x + 1

- 4atanh(x\|- x

+—+
- 4\ |3 atan(

+—+
2\ |3 atan(

(2x

+—+
4\ |3 atan(

16
--E 64

--S 65 of 250
d0013:= D(m0013,x)

- 2x atan(\|- x

4 2 | 2 4 2
-x +x +1) -log(-2x\|l-x +1 -x +x +1)
—-——+ domm - + Fomm— +
| 2 | 2
+1) +16\|l-x + 1 atan(\|-x + 1 + x)
R +
| 2 +-+
\l-x +1 +x +-+ x\I3 +1
——————————————— ) - 4\|3 atan(-——---------)
Fo—m + Fo—— +
2 |2
\I-x +1 \I-x +1
+ 2 +—+
-1 +—+ (2x - D\I3
—————— ) + 2\I3 atan(--—--—-——-——-----)
————— + e
2 | 2
+ 1 ax\l-x +1 -1
+—+
- D\I3 x
—————————— ) - 8atan(-----------)
————— + o ———t
2 | 2
+1 +1 \l-x +1
+—+ 2 +—+
D\I3 +—+ (2x - D\I3
—————— ) + 2\|3 atan(-------------) + 8asin(x)
4 2
2x - 2x -1
Type: Expression(Integer)
o +
_____ + | 2
2 \l-x +1 +x
+1 + x) - x atan(-———---—--————- )
po—— +
|2
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--R Type: Expression(Integer)

0.14 Problem 14

--S 66 of 250
t0014:= asin(x)/(1+sqrt(1-x~2))

--R asin(x)

--R Type: Expression(Integer)

--S 67 of 250
r0014:= ((-1+sqrt(1-x~2))*asin(x))/x+asin(x)"2/2-log(1+sqrt(1-x~2))

--R  (60)
--R | 2 | 2 2

--R - 2x log(\|l-x +1 + 1) + 2asin(x)\|- x + 1 + x asin(x) - 2asin(x)
__R ________________________________________________ ———

--R Type: Expression(Integer)

--S 68 of 250
a0014:= integrate(t0014,x)

--R  (61)

--R (-4\|l-x +1 - Dlog\l-x +1 + 1)
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+ 4)log(\|- x + 1

- 8log(x)\|l- x + 1 - 8log(x)

--E 68

--S 69 of 250
m0014:= a0014-r0014
(62)

(4\l- x +1 + Dlog\lI-x + 1

4\l-x +1 + 4log(\l-x +1

Al-x +1

(- 8log(x) - 4asin(x) )\I-x + 1

()

Type: Union(Expression(Integer),...)

+ 1)
- 1)
+ 2 O
|
2x\ |- x
-) + 4x atan(-—------
2
2x

- 8log(x) - 4asin(x)

+ 8x asin(x)

Type: Expression(Integer)



--E 69
--S 70 of 250
d0014:= D(m0014,x)

--R  (63)

--R A\l-x +1 -x + 1latan(-———---—---—-—- ) + 2asin(x)\|- x + 1

--R (- 2x + 2)asin(x)

--R 2x - \l-x +1 +4x -4
--R Type: Expression(Integer)

0.15 Problem 15

--S 71 of 250
t0015:= log(x+sqrt(1+x~2))/(1-x"2)"(3/2)

--R | 2

--R Type: Expression(Integer)
--E 71

--S 72 of 250

r0015:= -1/2*asin(x"2)+x*x*log(x+sqrt (1+x72))/sqrt(1-x"2)
--R
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--R 2 | 2 2 | 2
--R 2x log(\lx + 1 + x) - asin(x )\|-x + 1
--R  (65) --- T

--R Type:

--E 72
--S 73 of 250

a0015:= integrate(t0015,x)

--R >> Error detected within library code:
--R  failed - cannot handle that integrand

--R

--R Continuing to read the file...
--R

--E 73

--S 74 of 250

--m0015:= a0015-r0015

--E 74

--S 75 of 250

--d0015:= D(m0015,x)

--E 75

0.16 Problem 16

--S 76 of 250
t0016:= asin(x)/(1+x"2)"~(3/2)

--R asin(x)

--R 2 | 2
--R (x + D\Ix +1

--R Type:

7

Expression(Integer)

Expression(Integer)



--E 76

--S 77 of 250
r0016:= x*asin(x)/sqrt(1+x"2)-asin(x"2)/2

--R 2 |2
--R - asin(x )\Ix + 1 + 2x asin(x)

--R Type: Expression(Integer)
-E 77

--S 78 of 250

a0016:= integrate(t0016,x)

--R >> Error detected within library code:
--R failed - cannot handle that integrand

--R

--R  Continuing to read the file...
--R

--E 78

-=5 79 of 250

--m0016:= a0016-r0016

--E 79

--S 80 of 250

--d0016:= D(m0016,x)

--E 80

0.17 Problem 17

ok
--S 81 of 250
t0017:= log(x+sqrt(x~2-1))/(1+x72)"(3/2)
--R
--R
--R et +
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--R | 2
--R log(\lx -1 + x)

--R (x + D\Ilx +1

--R Type:

--E 81

--S 82 of 250
r0017:= -1/2%acosh(x"2)+x*log(x+sqrt(-1+x72))/sqrt (1+x~2)

--R | 2 2 |2
--R 2x log(\lx -1 + x) - acosh(x )\Ix + 1
--R  (69) --- e

--R Type:

--E 82
--S 83 of 250

a0017:= integrate(t0017,x)

--R >> Error detected within library code:
--R  failed - cannot handle that integrand

--R

--R Continuing to read the file...
--R

--E 83

--S 84 of 250

--m0017:= a0017-r0017

--E 84

--S 85 of 250

--d0017:= D(m0017,x)

--E 85

0.18 Problem 18
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Expression(Integer)

Expression(Integer)



--S 86 of 250
t0018:= log(x)/(x"2*sqrt(x"2-1))

--R Type: Expression(Integer)

--S 87 of 250
r0018:= sqrt(-1+x"2)/x-atanh(x/sqrt(-1+x~2))+(sqrt (-1+x"2)*log(x))/x

--R x | 2
--R - x atanh(--------- ) + (log(x) + D\Ix -1

--R Type: Expression(Integer)
--E 87

--S 88 of 250
a0018:= integrate(t0018,x)

--R | 2 2 | 2 | 2 2
--R  (x\lx -1 -x)log\lx -1 -x) -xlogx)\Ix -1 + (x - Dlog(x) -1

--R xN\Ilx -1 -x
--R Type: Union(Expression(Integer),...)
--E 88

--S 89 of 250
m0018:= a0018-r0018

--R | 2 %
R (73) log(\lx -1 - x) + atanh(-——-----—- ) + 1



--R Type:

--E 89

--S 90 of 250
d0018:= D(m0018,x)

--R  (74) ©

--R Type:

--E 90

0.19 Problem 19

--S 91 of 250
t0019:= sqrt(1+x~3)/x

--R Type:

--S 92 of 250
r0019:= 2xsqrt(1+x~3)/3 - 2/3*atanh(sqrt(1+x~3))

--R | 3 | 3
--R - 2atanh(\|x + 1) + 2\Ix + 1

--R Type:

--S 93 of 250
a0019:= integrate(t0019,x)
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Expression(Integer)

Expression(Integer)

Expression(Integer)



--R | 3 | 3 | 3

--R - log\lx +1 + 1) +log(\lx +1 -1) +2\|x +1

--R (77 --- -—- -—- -—- --

--R 3

--R Type: Union(Expression(Integer),...)
--E 93

--S 94 of 250
m0019:= a0019-r0019

--R | 3 | 3 I 3
--R - log(\lx +1 + 1) + log(\lx + 1 - 1) + 2atanh(\Ix + 1)
--R  (78) --- -—- -—- -—- -—= -

--R Type: Expression(Integer)
--E 94

--S 95 of 250
d0019:= D(m0019,x)

--R (79 0
--R Type: Expression(Integer)
--E 95

0.20 Problem 20

--S 96 of 250
t0020:= x*log(x+sqrt(x~2-1))/sqrt(x"2-1)

--R | 2
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--R \x -1
--R Type: Expression(Integer)
--E 96

--S 97 of 250
r0020:= -x+sqrt(-1+x"2)*log(x+sqrt(-1+x~2))

--R | 2 | 2

--R  (81) \lx -11log\Ix -1 +x) -x

--R Type: Expression(Integer)
--E 97

--S 98 of 250
a0020:= integrate(t0020,x)

--R | 2 2 | 2 | 2 2
--R (-x\lx -1 +x - Dlog\lx -1 +x) -x\lx -1 +x

--R Type: Union(Expression(Integer),...)
--E 98

--S 99 of 250
m0020:= a0020-r0020

--R (83) 0
--R Type: Expression(Integer)
--E 99

--S 100 of 250

d0020:= D(m0020,x)

--R (84) 0
--R Type: Expression(Integer)
--E 100
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0.21

--S 101
t0021:=

--S 102

Problem 21

of 250

x"3*asin(x)/sqrt(1-x"4)

3
x asin(x)

of 250

Type: Expression(Integer)

r0021:= 1/4*x*sqrt(1+x~2)-1/2*sqrt(1-x"4)*asin(x)+asinh(x)/4

| 2
x\Ix +1

-R (86) ~-—--—------

--E 102

--S 103

- 2asin(x)\|- x

+1

+ asinh(x)

of 250

a0021:= integrate(t0021,x)

--R >> Error detected within library code:

--R failed - cannot handle that integrand

--R  Continuing to read the file...

--E 103

--S 104

--m0021:

--E 104

--S 105
--d0021
--E 105

of 250
= a0021-r0021

of 250
:= D(m0021,x)
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0.22 Problem 22

--S 106 of 250
t0022:= x"3*asec(x)/sqrt(x"4-1)

--R 3
--R x asec(x)

--R Type: Expression(Integer)

--S 107 of 250
r0022:= -sqrt(-1+x74)/(2*sqrt (1-1/x"2)*x)+1/2*sqrt (-1+x"4) *asec(x)+_
1/2*atanh ((sqrt(1-1/x"2) *x) /sqrt (-1+x~4))

--R Type: Expression(Integer)
--E 107

--S 108 of 250
a0022:= integrate(t0022,x)
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--R >> Error detected within library code:
--R failed - cannot handle that integrand

--R

--R  Continuing to read the file...
--R

--E 108

--S 109 of 250

--m0022:= a0022-r0022

--E 109

--S 110 of 250

--d0022:= D(m0022,x)

--E 110

0.23 Problem 23

--S 111 of 250
£0023:= x*atan(x)*log(x+sqrt(1+x~2))/sqrt(1+x~2)

--R | 2

--R Type: Expression(Integer)
--E 111

--S 112 of 250
r0023:= -x*atan(x)+1/2xlog(1+x"~2)+_
sqrt (1+x~2)*atan(x)*log(x+sqrt (1+x72))-1/2*log(x+sqrt (1+x72)) "2
--R  (90)
--R | 2 | 2 | 2 2

--R - log\Ix +1 + x) + 2atan(x)\|lx + 1 log(\lx + 1 + x) + log(x + 1)
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--R - 2x atan(x)

--R Type: Expression(Integer)
--E 112

--S 113 of 250

a0023:= integrate(t0023,x)

-k (91)

--R | 2 | 2

--R \lx +1 +x)log\lx +1 + x)

--R 2x | 2 2 2x | 2
--R (x atan(-----—- NIx +1 + (- x - Datan(------ Nlog\Ix + 1 + x)

--R 2 2x | 2 2 2 2x
--R (log(x + 1) + x atan(------ MD\Ix +1 - x log(x + 1) - x atan(——----

--R | 2

--R 2\lx +1 - 2x

--R Type: Union(Expression(Integer),...)
--E 113

--S 114 of 250
m0023:= a0023-r0023
--R  (92)

--R 2x | 2 2
--R (2x atan(x) + x atan(-—---- MD\Ix +1 + (- 2x - 2)atan(x)
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| 2

log(\Ix +

1 + x)

2x |
DAV

(2x atan(x) + x atan(

| 2
2\lx +1 - 2x
--E 114

--S 115 of 250
d0023:= D(m0023,x)

2
X

2

+ 1 - 2x atan(x) - x atan(

Type: Expression(Integer)

| 2
+

(93)

0.24 Problem 24

--S 116 of 250
t0024:= xxlog(l+sqrt(1-x~2))/sqrt(1-x72)

88

Type: Expression(Integer)



--R Type: Expression(Integer)
--E 116

--S 117 of 250
r0024:= sqrt(1-x"2)-log(1+sqrt(1-x~2))-sqrt(1-x"2)*log(1l+sqrt(1-x~2))

-—R (95) (- \l-x +1 - Dlog\l-x +1 + 1) +\|l-x +1
--R Type: Expression(Integer)
--E 117

--S 118 of 250
a0024:= integrate(t0024,x)

--R x log(\lI-x +1 +1) -x
--R  (96) --- ettt

--R Type: Union(Expression(Integer),...)
--E 118

--S 119 of 250
m0024:= a0024-r0024

--R o7 1
--R Type: Expression(Integer)
--E 119

--S 120 of 250
d0024:= D(m0024,x)

--R (98) 0
--R Type: Expression(Integer)
--E 120
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0.25 Problem 25

--S 121 of 250
t0025:= x*log(x+sqrt(1+x~2))/sqrt(1+x~2)

--R | 2

--R Type: Expression(Integer)
--E 121

--S 122 of 250
r0025:= -x+sqrt(1+x”2)*log(x+sqrt (1+x72))

--R (100) \lx + 1 log(\lx +1 + x) - x
--R Type: Expression(Integer)
--E 122

--S 123 of 250
a0025:= integrate(t0025,x)

--R | 2 2 | 2 | 2 2
--R - x\lx +1 +x + Dlog\Ix +1 +x) -x\Ilx +1 +x
-k (101) -- -—- -—- -—-

--R | 2

--R \x +1 -x

--R Type: Union(Expression(Integer),...)
--E 123

--S 124 of 250
m0025:= a0025-r0025

-k (102) ©
--R Type: Expression(Integer)
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--E 124

--S 125 of 250
d0025:= D(m0025,x)

--R
--R

--R (103) ©

--R Type: Expression(Integer)
--E 125

0.26 Problem 26

--S 126 of 250
t0026:= x*log(x+sqrt(1-x~2))/sqrt(1-x~2)

--R  (104) -- - -

--R Type: Expression(Integer)
--E 126

--S 127 of 250

r0026:= sqrt(1-x~2)+atanh(sqrt(2)*x)/sqrt(2)-_
atanh(sqrt(2)*sqrt(1-x72)) /sqrt(2) -sqrt (1-x"2) *log (x+sqrt (1-x72))

--R  (105)

--R =+ 2 2 =+ 12

--R - \l2\l-x +11log(\l-x +1 + x) - atanh(\|2 \|-x + 1)

--R +=+ | 2 +—+

--R \I2 \|- x + 1 + atanh(x\|2 )

--R +-+

--R \12
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--R Type: Expression(Integer)
--E 127

--S 128 of 250
a0026:= integrate(t0026,x)

--R  (106)

--R 2 +-+ | 2
--R 2x \12 log(\|- x + 1 + x)
--R +

--R =+ | 2 +-+ x-D\l-x +1 -x -x+1
--R AI2\I-x +1 =-\]2)log(-—=———==————————————m———m———— e )

--R +—+ I 2 2 +—+ 2
--R (x+D\2 -2x0\l-x +1 + (-x -x-D\|2 +2x + 2x
--R log(—==========———————— -— -— )

--R x+D\-x +1 +x -x-1

--R +-+ | 2 2 +—+ 2
--R (x-D\I2 -2x0\|-x +1 + (x -x+ D\I2 -2x + 2x

--R x-D\l-x +1 -x -x+1

--R +-+ | 2 +—+ -x-D\l-x +1 -x +x+1
--R (- \I2\l-x +1 +\I[2)log(- -—= -—= -)
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--R (2x + 1\I|2 + 4x +-+ 2 | 2
--R (log(———==—=————==-—-—- ) +\|2 log(2x - DI\I-x +1

--R 2 =t
--R (2x + D\I2 + 4x +—+ 2 2 +-+
--R - log(-—=——=——=————————- ) - \I2 log(2x - 1) - 2x \|[2

--R +-+ | 2 +-+

--R 2\12 \[-x +1 - 2\|2

--R Type: Union(Expression(Integer),...)
--E 128

--S 129 of 250
m0026:= a0026-r0026

--R (107)

--R +—+ I 2 +-+ (x-D\l-x +1 -x -x+1
--R - 2\12 log(\l- x + 1 + x) + \|2 log(- - --)

--R +-+ | 2 2 +-+ 2
--R (x+ D\I2 -20\|-x +1 + (x -x-D\I2 +2x + 2x

--R x+ D\l-x +1 +x -x-1

--R +-+ | 2 2 +—+ 2
--R (x=-DN\I2 -20\|-x +1 + & -x+ D\|2 -2x + 2x

-k (x-D\-x +1 -x -x+1

--R +-+ x-D\l-x +1 -x +x+1 +—+ | 2
-R - \I2 log(-—- S — ) + 2atanh(\2 \|- x + 1)
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2 +—+
(2x + D\|2 + 4x

+-+
2\ 2

--E 129

--S 130 of 250
d0026:= D(m0026,x)

--R
--R

--R  (108) 0
--R

--E 130

0.27 Problem 27

--S 131 of 250
t0027:= log(x)/(x"2*sqrt(1-x72))

--S 132 of 250

+-+
) + \[|2 log(2x

2

+—+ .
- 1) - 2atanh(x\[|2 ) + 2\|2

Type: Expression(Integer)

Type: Expression(Integer)

Type: Expression(Integer)

r0027:= -sqrt(1-x~2)/x-asin(x)-sqrt(1-x"2)*log(x)/x
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--R (- log(x) - D\|I-x +1 - x asin(x)
--R  (110) -- o

--R Type: Expression(Integer)
--E 132

--S 133 of 250
a0027:= integrate(t0027,x)

--R (111)

--R 2x\l-x +1 - 2x)atan(-————-———-——-—- ) + (log(x) + D\I-x + 1

--R 2 2
--R (x - Dlog(x) +x -1

--R Type: Union(Expression(Integer),...)

--S 134 of 250
m0027:= a0027-r0027

--R (112) 2atan(---—-—--==—----- ) + asin(x)

--R Type: Expression(Integer)
--E 134

--S 135 of 250
d0027:= D(m0027,x)

--R (113) 0
--R Type: Expression(Integer)
--E 135
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0.28 Problem 28

--S 136 of 250
t0028:= x*atan(x)/sqrt(1+x"2)

--R x atan(x)

--R Type: Expression(Integer)

--S 137 of 250
r0028:= -asinh(x)+sqrt(1+x~2)*atan(x)

--R | 2

--R (115) atan(x)\|x + 1 - asinh(x)

--R Type: Expression(Integer)
--E 137

--S 138 of 250
a0028:= integrate(t0028,x)

--R | 2 | 2 2x | 2

--R (C\lx +1 - 2x)log(\lx +1 - x) + x atan(------ NIx + 1

--R 2 2x
--R (- x - 1atan(-————-—- )

--R Type: Union(Expression(Integer),...)
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--S 139 of 250
m0028:= a0028-r0028

--R | 2 | 2
--R (2\Ix +1 - 2x)log(\Ix + 1

--R (2x atan(x) + x atan(----—-- )+

--R 2 2x

—X)

| 2
2asinh(x))\Ix + 1

--R (- x - 1)atan(-——-—---—- ) - 2x asinh(x)

--E 139

--S 140 of 250
d0028:= D(m0028,x)

--R  (118) -- - -

0.29 Problem 29

Type:

Type:
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2
+ (- 2x - 2)atan(x)

Expression(Integer)

Expression(Integer)



--S 141 of 250
t0029:= atan(x)/(x"2*sqrt(1-x~2))

--R Type: Expression(Integer)

--S 142 of 250
r0029:= -sqrt(1-x~2)*atan(x)/x-atanh(sqrt(1-x72))+_
sqrt (2) *atanh(sqrt (1-x"2) /sqrt(2))

--R (120)

--R |2 +-+ \Il-x +1 I 2
--R - x atanh(\|- x + 1) + x\|2 atanh(-———---——-—- ) - atan(x)\|- x + 1

__R —_———— —_ —_ ———————

--R Type: Expression(Integer)
--E 142

--S 143 of 250

a0029:= integrate(t0029,x)

--R  (121)

--R - x log(\l-x +1 + 1) +xlog(\l-x +1 -1)

--R +

--R +—+ | 2 2 Fomm————— +

--R +-+ -2\12\|l-x +1 +x -3 2x |2
--R x\ |2 log(-=——==—=——=—————m ) + atan(------ NI-x +1

--R 2x
--R Type: Union(Expression(Integer),...)
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--S 144 of 250
m0029:= a0029-r0029

(122)

- x log(\l-x +1

--R +

+—+ | 2

+—+ - 2\12 \|- x

+-+

+-+

\12
2x
--E 144

--S 145 of 250
d0029:= D(m0029,x)

+ 1) + x log(\l-x +1

x\12 log(------—————---

- 2x\|2 atanh(-——------

(123)  —---------

0.30 Problem 30

- 1)

+ 1)

Type: Expression(Integer)

Type: Expression(Integer)
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--S 146 of 250
t0030:= x*atan(x)/sqrt(1-x"2)

--R Type: Expression(Integer)

--S 147 of 250
r0030:= -asin(x)-sqrt(1-x~2)*atan(x)+sqrt(2)*atan(sqrt(2)*x/sqrt(1-x72))

--R (125) \I|2 atan(-———-——----- ) — atan(x)\|- x + 1 - asin(x)

--R Type: Expression(Integer)
--E 147

--S 148 of 250

a0030:= integrate(t0030,x)

--R (126)

--R +—+ | 2 +o—— +

--R ++ 2x\12 \|- x + 1 x = 12
--R - \|2 atan(-—-—-----———————- ) - 2atan(-—------—--- ) + atan(------ NI-x +1

__R ——— —_— _————— e ——————— _————— e ————

--R Type: Union(Expression(Integer),...)
--E 148

--S 149 of 250

m0030:= a0030-r0030

--R  (127)
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+—+
- \|2 atan(

2x\12 \ |- x

--E 149

--S 150 of 250
d0030:= D(m0030,x)

(128)

0.31 Problem 31

--S 151 of 250
t0031:= atan(x)/(x"2*sqrt(1+x~2))

--R
--R atan(x)
R (129) —----------
--R O +
--R 212

+—+

Type:

Type:
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1 + 2asin(x)

Expression(Integer)

Expression(Integer)



--R x \Ix +1
--R Type: Expression(Integer)
--E 151

--S 152 of 250
r0031:= sqrt(1+x~2)*atan(x)/x-atanh(sqrt(1+x~2))

--R | 2 | 2

--R - x atanh(\|x + 1) + atan(x)\|x + 1

--R (130) -- - - -

--R X

--R Type: Expression(Integer)
--E 152

--S 1563 of 250

a0031:= integrate(t0031,x)

--R (131)

--R | 2 2 | 2

--R (-2x\lx +1 +2x)log\lx +1 -x+ 1)

--R | 2 2 | 2 2x | 2
--R @x\lx +1 -2x)log\lx +1 -x-1) - x atan(-——--- NIx + 1

--R Type: Union(Expression(Integer),...)
--E 153

--S 154 of 250
m0031:= a0031-r0031
--R  (132)

--R | 2 2 | 2
--R (- 2x\lx +1 + 2x)log(\Ix +1 - x + 1)
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0.32

| 2 2 | 2

-x - 1)

| 2 2 | 2

(2x\lx + 1 - 2x )atanh(\|x + 1)

| 2 2
(2x atan(x) - x atan(-—----- D\Ix +1 + (- 2x

2 2x

Type:

of 250
D(m0031,x)

(133) —-—--mm-m- —-

Type:

Problem 32
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- 2)atan(x)

Expression(Integer)

Expression(Integer)



--S 1566 of 250
t0032:= asin(x)/((x"2)*sqrt(1-x72))

--R asin(x)

--S 157 of 250

r0032:= -sqrt(1-x~2)*asin(x)/x+log(x)

Type: Expression(Integer)

--R - asin(x)\|- x + 1 + x log(x)

--R  (135) -- - -

--E 157

--S 1568 of 250
a0032:= integrate(t0032,x)

Type: Expression(Integer)

--=) + 2x log(x)

--R  (136) -- - -

--E 158

--S 159 of 250
m0032:= a0032-r0032

Type: Union(Expression(Integer),...)
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--R Type: Expression(Integer)

--S 160 of 250
d0032:= D(m0032,x)

--R Type: Expression(Integer)

0.33 Problem 33

--S 161 of 250
t0033:= x*log(x)/sqrt(x"2-1)

--R Type: Expression(Integer)
--E 161

--S 162 of 250
r0033:= -sqrt(x~2-1)+atan(sqrt(x~2-1))+sqrt(x~2-1)*log(x)
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--R (140) atan(\Ix -1 ) + (log(x) - D\Ix -1
--R Type: Expression(Integer)
--E 162

--S 163 of 250
a0033:= integrate(t0033,x)

--R | 2 | 2 | 2
--R (2\lx -1 - 2x)atan(\|lx -1 - x) + (- x log(x) + x)\Ix -1

--R 2 2
--R (x - Dlog(x) - x +1

--R \lx -1 -x
--R Type: Union(Expression(Integer),...)
--E 163

--S 164 of 250
m0033:= a0033-r0033

--R | 2 | 2

--R  (142) - atan(\lx - 1) + 2atan(\Ilx -1 - x)

--R Type: Expression(Integer)
--E 164

--S 165 of 250
d0033:= D(m0033,x)

--R (143) 0
--R Type: Expression(Integer)
--E 165

0.34 Problem 34
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--S 166 of 250
t0034:= log(x)/(x"2*sqrt(1+x~2))

--R Type: Expression(Integer)

--S 167 of 250
r0034:= -sqrt(1+x~2)/x+asinh(x)-sqrt(1+x~2)*log(x)/x

--R | 2
--R (- log(x) - D\lx + 1 + x asinh(x)
--R  (145) ---------- —mmmmee-

--R Type: Expression(Integer)
--E 167

--S 168 of 250
a0034:= integrate(t0034,x)

--R  (146)

--R | 2 2 | 2 | 2
--R (- x\lx +1 + x)log\lx +1 - x) + x log(x)\lx + 1

--R | 2 2

--R xN\lx +1 -x

--R Type: Union(Expression(Integer),...)
--E 168

--S 169 of 250
m0034:= a0034-r0034

--R | 2
--R (147) - log(\lx + 1 - x) - asinh(x) - 1
--R Type: Expression(Integer)
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--E 169
--S 170 of 250
d0034:= D(m0034,x)

--R (148) ©
--R Type: Expression(Integer)
--E 170

0.35 Problem 35

--S 171 of 250
t0035:= x*asec(x)/sqrt(x"2-1)

--R x asec(x)

--R Type: Expression(Integer)

--S 172 of 250
r0035:= sqrt(x"2-1)*asec(x)-sqrt(1-1/x"2)*x*xlog(x)/sqrt(x~2-1)

--R - x log(x) |-——--- + (x - 1)asec(x)
--R |2
--R \l x
--R  (150) -- -—- - -

--R Type: Expression(Integer)
--E 172

--S 173 of 250
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a0035:= integrate(t0035,x)

--R >> Error detected within library code:
--R  failed - cannot handle that integrand

--R

--R Continuing to read the file...
--R

--E 173

--S 174 of 250

--m0035:= a0035-r0035

--E 174

--S 175 of 250

--d0035:= D(m0035,x)

--E 175

0.36 Problem 36

--S 176 of 250
t0036:= x*log(x)/sqrt(1+x~2)

--R Type: Expression(Integer)

--S 177 of 250
r0036:= -sqrt(1+x"2)+atanh(sqrt (1+x"2))+sqrt(1+x~2)*log(x)

--R | 2 | 2

--R (152) atanh(\Ix + 1) + (log(x) - D\Ix + 1

--R Type: Expression(Integer)
--E 177
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--S 178 of 250
a0036:= integrate(t0036,x)

--R | 2 | 2
--R Alx +1 - xlog\lx +1 -x+ 1)

--R | 2 | 2 | 2
--R (- \lx +1 +=x)log\lx +1 -x-1) + (- x log(x) + x)\Ix + 1

--R 2 2
--R (x + Dlog(x) - x -1

--R | 2

--R \lx +1 -x

--R Type: Union(Expression(Integer),...)
--E 178

--S 179 of 250
m0036:= a0036-r0036

--R | 2 | 2 | 2

--R  (154) log(\lx +1 -x+ 1) - log(\lx +1 -x-1) - atanh(\|x + 1)
--R Type: Expression(Integer)
--E 179

--S 180 of 250
d0036:= D(m0036,x)

--R (165) 0
--R Type: Expression(Integer)
--E 180

0.37 Problem 37
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--S 181 of 250
t0037:= sin(x)/(1+sin(x)"2)

--R Type: Expression(Integer)

--S 182 of 250
r0037:= atanh(cos(x)/sqrt(2))/sqrt(2)

--R cos(x)

--R Type: Expression(Integer)

--S 183 of 250
a0037:= integrate(t0037,x)

--R +—+ 2 +—+ +—+

--R (- 3\I2 + 4)cos(x) + (- 8\|2 + 12)cos(x) - 6\|2 + 8

--R log(-——--- -— -— -— )

--R 2

--R cos(x) - 2

--R  (158) ~-- -—- -—- -—- -—- -

--R +—+

--R 2\12

--R Type: Union(Expression(Integer),...)
--E 183

--S 184 of 250
m0037:= a0037-r0037

--R  (159)
--R +—+ 2 +—+ +-+
--R (- 3\|2 + 4)cos(x) + (- 8\|2 + 12)cos(x) - 6\|2 + 8 cos(x)

--R 2 .
--R cos(x) -2 \ 2



--R +—+
—-R 2\12
--R Type: Expression(Integer)

--S 185 of 250
d0037:= D(m0037,x)

--R 2sin(x)

--R Type: Expression(Integer)

0.38 Problem 38

--S 186 of 250
t0038:= (1+x72)/((1-x"2)*sqrt(1+x74))

--R Type: Expression(Integer)
--E 186

--S 187 of 250
r0038:= atanh(sqrt(2)*x/sqrt(1+x~4))/sqrt(2)
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--R Type: Expression(Integer)

--S 188 of 250
a0038:= integrate(t0038,x)

--R +-+ | 4

--R Type: Union(Expression(Integer),...)
--E 188

--S 189 of 250
m0038:= a0038-r0038

--R +—+

--R \ 12

--R Type: Expression(Integer)
--E 189

--S 190 of 250
d0038:= D(m0038,x)

--R (165) 0
--R Type: Expression(Integer)
--E 190
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0.39 Problem 39

--S 191 of 250
t0039:= (1-x72)/((1+x"2)*sqrt(1+x~4))

--R 2 | 4

--R (x + D\Ix +1

--R Type: Expression(Integer)
--E 191

--S 192 of 250
r0039:= atan(sqrt(2)*x/sqrt(1+x~4))/sqrt(2)

--R Type: Expression(Integer)

--S 193 of 250
a0039:= integrate(t0039,x)

—R =+ 2x
--R \|2 atan(-—--——-—-—————- )

--R +-+ | 4
--R \I2 \lx + 1
--R  (168) -- - -

--R Type: Union(Expression(Integer),...)
--E 193

--S 194 of 250
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m0039:= a0039-r0039

--R Type: Expression(Integer)

--S 195 of 250
d0039:= D(m0039,x)

--R (170) 0
--R Type: Expression(Integer)
--E 195

0.40 Problem 40

--S 196 of 250
t0040:= log(sin(x))/(1+sin(x))

--R log(sin(x))

--R Type: Expression(Integer)

--S 197 of 250
r0040:= -x-atanh(cos(x))-cos(x)*log(sin(x))/(1+sin(x))

--R - cos(x)log(sin(x)) + (- sin(x) - 1)atanh(cos(x)) - x sin(x) - x
R (172) -- --- --- ---
--R sin(x) + 1
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--R Type: Expression(Integer)
--E 197

--S 198 of 250

a0040:= integrate(t0040,x)

--R (173)

--R - 2cos(x)log(sin(x)) + (- sin(x) - 1)log(cos(x) + 1)

__R +

--R (sin(x) + 1)log(cos(x) - 1) + (2sin(x) + 2)atan(---------- )
--R cos(x) - 1
--R (2sin(x) + 2)atan(---------- ) - 4x sin(x) - 4x

--R cos(x) + 1

--R 2sin(x) + 2

--R Type: Union(Expression(Integer),...)
--E 198

--S 199 of 250

m0040:= a0040-r0040

--R  (174)

--R - log(cos(x) + 1) + log(cos(x) - 1) + 2atanh(cos(x)) + 2atan(----------
—-R cos(x) - 1

--R cos(x) + 1

--R Type: Expression(Integer)
--E 199

--S 200 of 250

d0040:= D(m0040,x)

--R 4 2 2 4
--R sin(x) + 2cos(x) sin(x) + cos(x) -1

--R sin(x) + (2cos(x) + 2)sin(x) + cos(x) - 2cos(x) + 1
--R Type: Expression(Integer)
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0.41 Problem 41

--S 201 of 250
t0041:= log(sin(x))*sqrt(1+sin(x))

--R  (176) log(sin(x))\l|sin(x) + 1
--R Type: Expression(Integer)
--E 201

--S 202 of 250

r0041:= 4*cos(x)/sqrt(1+sin(x))-2*cos(x)*log(sin(x))/sqrt(1+sin(x))-_
4*atanh(cos(x)/sqrt(1+sin(x)))

R \Isin(x) + 1
--R Type: Expression(Integer)

--S 203 of 250
a0041:= integrate(t0041,x)

--R >> Error detected within library code:
--R failed - cannot handle that integrand
--R  Continuing to read the file...

--E 203

--5 204 of 250

--m0041:= a0041-r0041
--E 204
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--S 205 of 250
--d0041:= D(m0041,x)
--E 205

0.42 Problem 42

--S 206 of 250
t0042:= sec(x)/sqrt(sec(x)"4-1)

--R \lsec(x) -1
--R Type: Expression(Integer)
--E 206

--S 207 of 250
r0042:= -atanh(sqrt(sec(x)~4-1)/(sqrt(2)*sec(x)*tan(x)))/sqrt(2)

--R +-+

--R  (179) - e e e

--R +-+

--R \12

--R Type: Expression(Integer)
--E 207

--S 208 of 250
a0042:= integrate(t0042,x)

--R  (180)

__R -

--R +—+
--R \12
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--R log

--R +—+ 5 +—+ 4 +—+ 3
--R - 8\12 cos(x) - 24\|2 cos(x) - 20\|2 cos(x)
--R +

--R +—+ 2 +—+ +—+

--R 4\ |2 cos(x) + 12\]2 cos(x) + 4\|2

--R \lcos(x) + 2cos(x) + 1

--R 4 3 2
--R - 32cos(x) - 128cos(x) - 193cos(x) - 128cos(x) - 33

--R 6 5 4 2
--R cos(x) + 4cos(x) + 5cos(x) - Bcos(x) - 4cos(x) -1

--R Type: Union(Expression(Integer),...

--E 208

--S 209 of 250
m0042:= a0042-r0042

--R  (181)

__R -

--R log

--R +—+ 5 +—+ 4 +—+ 3
--R - 8\I2 cos(x) - 24\|2 cos(x) - 20\|2 cos(x)

--R +—+ 2 =+ -
--R 4\ |2 cos(x) + 12\|2 cos(x) + 4\|2

--R \lcos(x) + 2cos(x) + 1

--R 4 3 2
--R - 32cos(x) - 128cos(x) - 193cos(x) - 128cos(x) - 33

--R 6 5 4 2
--R cos(x) + 4cos(x) + 5cos(x) - Bcos(x) - 4cos(x) -1
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--R \lsec(x) -1
--R 2atanh(-———----------——- )
--R +—+

--R \ 12 sec(x)tan(x)

--R +-+
--R 2\ |2

--E 209
--S 210 of 250

d0042:= D(m0042,x)

--R  (182)
--R +—+ 5 +—+ 4
--R - 32\ |2 cos(x) - 128\]2 cos(x)

--R +—+ 2 +—+
--R - 126\ |2 cos(x) - 36\|2 cos(x) +

--R 2 2
--R sec(x) sin(x)tan(x)

--R +-+ 5 +—+ 4
--R 16\ ]2 cos(x) + 64\|2 cos(x)

--R +-+ 2 +—+
--R 63\12 cos(x) + 18\|2 cos(x)

--R 4
--R sec(x)

--R +-+ 5 +—+ 4
--R - 16\|2 cos(x) - 64\|2 cos(x) -

--R +-+ 2 +—+
--R - 63\|2 cos(x) - 18\|2 cos(x) +

--R sin(x)

--R \lcos(x) + 2cos(x) + 1
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Type: Expression(Integer)

+—+ 3
- 194\ |2 cos(x)

+-+
2\ 2

+—+ 3
+ 97\ 12 cos(x)

+-+

- \l2

+—+ 3
97\ 12 cos(x)

+—+

\ 2



+
6 5 4 3 2
- 32cos(x) + 32cos(x) - 48cos(x) - 80cos(x) + 48cos(x)
+
- 16cos(x) - 32
*
2 2
sec(x) sin(x)tan(x)
+
6 5 4 3 2
16cos(x) - 16cos(x) + 24cos(x) + 40cos(x) - 24cos(x)
+
8cos(x) + 16
*
4
sec(x)
+
6 5 4 3 2
- 16cos(x) + 16cos(x) - 24cos(x) - 40cos(x) + 24cos(x)
+
- 8cos(x) - 16
*
sin(x)
o +
| 4

\lsec(x) -1

6 5 4 2
(64cos(x) + 256cos(x) + 322cos(x) - 320cos(x) - 256cos(x) - 66)

2
sec(x)tan(x)
+
6 5 4 2
- 32cos(x) - 128cos(x) - 161cos(x) + 160cos(x) + 128cos(x)
+
33
*
5
sec(x)
+
6 5 4 2
(32cos(x) + 128cos(x) + 161cos(x) - 160cos(x) - 128cos(x) - 33)
*
sec(x)
e +

| 4cos(x) + 4
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\lcos(x) + 2cos(x) + 1

+—+ 7 +—+ 6 +—+ 5 +—+ 4
64\|2 cos(x) + 64\|2 cos(x) - 32\|2 cos(x) - 32\|2 cos(x)

+—+ 3 +—+ 2 +—+ +-+
- 64\|2 cos(x) - 64\|2 cos(x) + 32\|2 cos(x) + 32\|2

2
sec(x)tan(x)

+-+ 7 +—+ 6 +—+ 5 +—+ 4
- 32\|2 cos(x) - 32\|2 cos(x) + 16\|2 cos(x) + 16\|2 cos(x)

+—+ 3 +—+ 2 +—+ +—+
32\ |2 cos(x) + 32\[2 cos(x) - 16\|2 cos(x) - 16\]|2

5
sec(x)

+—+ 7 +—+ 6 +—+ 5 +—+ 4
32\|2 cos(x) + 32\|2 cos(x) - 16\|2 cos(x) - 16\|2 cos(x)

+—+ 3 +—+ 2 +—+ +—+
- 32\12 cos(x) - 32\[|2 cos(x) + 16\|2 cos(x) + 16\]|2

sec(x)
6 5 4 2
64cos(x) + 256cos(x) + 322cos(x) - 320cos(x) - 256cos(x)
+
- 66
*
2 2
sec(x) tan(x)
+
6 5 4 2
- 32cos(x) - 128cos(x) - 161cos(x) + 160cos(x) + 128cos(x)
+
33
*
4
sec(x)
+
6 5 4 2
32cos(x) + 128cos(x) + 161cos(x) - 160cos(x) - 128cos(x) - 33
e +
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\lcos(x)

+—+
64\ |2 cos(x)

7

+-+

- 64\ |2 cos(x)

2
sec(x) tan(x)

2

+-+

- 32\ |2 cos(x)

+—+
32\ |2 cos(x)

3

4
sec(x)

+—+
32\ |2 cos(x)
+

7

+—+
- 32\ |2 cos(x)

3

0.43 Problem 43

--S 211 of 250

t0043:= tan(x)/sqrt(1+tan(x) ~4)
--R

--R

3

7

+ 32\ |2 cos(x)

+ 2cos(x) + 1

+—+

+ 64\ |2 cos(x)

+—+
- 64\ |2 cos(

+—+
- 32\ |2 cos(

+—+

+ 32\ |2 cos(x)

+-+

6

+-+ 2

- 32\ |2 cos(x)
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6 +-+

- 32\ |2 cos(x)

5 +—+

- 32\ |2 cos(x)

4

2
x)

+—+ +—+
+ 32\ |2 cos(x) + 32\|2

6
x)

+—+
+ 16\ |2 cos(x)

5 +-+

+ 16\ |2 cos(x)

4

2 +-+ +—+

- 16\|2 cos(x) - 16\|[2

+—+
16\ ]2 cos(x)

5 +-+

- 16\ |2 cos(x)

4

+—+ +—+
+ 16\ |2 cos(x) + 16\|2

Type: Expression(Integer)



--R \ltan(x) + 1
--R Type: Expression(Integer)
--E 211

--S 212 of 250
r0043:= -atanh((1-tan(x)~2)/(sqrt(2)*sqrt(1+tan(x)"4)))/(2*xsqrt(2))

--R +-+ | 4

--R +—+
--R 2\12
--R Type: Expression(Integer)

--S 213 of 250
a0043:= integrate(t0043,x)

--R (185)
--R +-+
--R \ 12

--R log

--R +—+ 8 +—+ 6 +—+ 4 +-+ 2
--R (- 64\]2 cos(x) + 96\|2 cos(x) - 56\|2 cos(x) + 12\|2 cos(x) )

--R \ cos(x)

--R 8 6 4 2
--R 128cos(x) - 256cos(x) + 224cos(x) - 96cos(x) + 17

--R 16
--R Type: Union(Expression(Integer),...)
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--S 214 of 250
m0043:= a0043-r0043

--R (186)

--R log

--R +-+ 8 +-+ 6 +-+ 4 +-+ 2
--R (- 64\]2 cos(x) + 96\|2 cos(x) - 56\|2 cos(x) + 12\|2 cos(x) )

--R \ cos(x)

--R 8 6 4 2
--R 128cos(x) - 256cos(x) + 224cos(x) - 96cos(x) + 17

--R +=+ | 4
--R \l2 \ltan(x) + 1

--R +—+

--R 8\12

--R Type: Expression(Integer)
--E 214

--S 215 of 250

d0043:= D(m0043,x)

--R  (187)
--R +—+ 9 +—+ 7 +—+ 5 +—+ 3
--R (- 64\[2 cos(x) + 96\|2 cos(x) - 56\|2 cos(x) + 12\]2 cos(x) )

--R |2cos(x) - 2cos(x) + 1

--R \ cos(x)

--R 9 7 5 3
--R (128cos(x) - 256cos(x) + 224cos(x) - 96cos(x) + 17cos(x))sin(x)
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--R | 4
--R \ltan(x) + 1

--R 10 8 6 4 2
--R (- 128cos(x) + 266cos(x) - 224cos(x) + 96cos(x) - 17cos(x) )tan(x)

--R [2cos(x) - 2cos(x) + 1

--R \ | cos(x)

--R +—+ 10 +—+ 8 +-+ 6 +—+ 4
--R 128\ |2 cos(x) - 320\ 12 cos(x) + 368\12 cos(x) - 232\|2 cos(x)

--R +-+ 2 +-+
--R 80\ 12 cos(x) - 12\[2

--R tan(x)

--R 10 8 6 4 2
--R (128cos (%) - 256cos(x) + 224cos(x) - 96cos(x) + 17cos(x) )

--R \ cos(x)

--R +—+ 10 +—+ 8 +—+ 6 +—+ 4
--R - 128\ 12 cos(x) + 320\ |2 cos(x) - 368\|2 cos(x) + 232\|2 cos(x)

--R +—+ 2 +—+
--R - 80\|2 cos(x) + 12\]|2

--R \ltan(x) + 1
--R Type: Expression(Integer)

0.44 Problem 44
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--S 216 of 250
t0044:= sin(x)/sqrt(1-sin(x)"6)

--R \l- sin(x) + 1
--R Type: Expression(Integer)
--E 216

--S 217 of 250
r0044:= atanh((sqrt(3)*cos(x)*(1+sin(x)"2))/(2*sqrt(1-sin(x)~6)))/(2*sqrt(3))

--R +—+ 2 +—+
--R \I3 cos(x)sin(x) + \I3 cos(x)
--R atanh (---- - -

--R 2\|- sin(x) + 1

--R  (189) -- - -—- -

--R +—+

--R 2\13

--R Type: Expression(Integer)
--E 217

--S 218 of 250
a0044:= integrate(t0044,x)

--R  (190)

__R -

--R +-+
-R \I3

--R log
--R +—+ 4 +—+ 3 +—+ 2 +—+
--R - \I3 cos(x) - 2\I3 cos(x) + \I3 cos(x) + 4\|3 cos(x)

--R +-+
--R 2\ 13

--R R — e +
--R I 4 2
--R | 16cos(x) - 48cos(x) + 48
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--R \lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

--R 4 2
--R Tcos(x) - 24cos(x) + 24

--R 4
--R cos(x)

--R 12
--R Type: Union(Expression(Integer),...)
--E 218

--S 219 of 250
m0044:= a0044-r0044

--R (191)

__R -

--R log

--R +—+ 4 +—+ 3 +—+ 2 +-+

--R - \I3 cos(x) - 2\I3 cos(x) + \I3 cos(x) + 4\|3 cos(x)

--R +-+
--R 2\ 13

--R \lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

--R 4 2
--R Tcos(x) - 24cos(x) + 24

--R 4
--R cos(x)

--R +—+ 2 +-+

--R \I3 cos(x)sin(x) + \[3 cos(x)
--R - 2atanh(-----------—---——-o——mo oo )
--R 2\ |- sin(x) + 1

--R +—+

--R 4\13
--R Type: Expression(Integer)

128



--E 219

--S 220 of 250
d0044:= D(m0044,x)

--R  (192)
--R +—+ 4 +—+ 3 +—+ 2 +—+
--R 16\ |3 cos(x) + 32\13 cos(x) - 16\|3 cos(x) - 64\|3 cos(x)

--R +-+
--R - 32\13

--R 7
--R sin(x)

--R +—+ 6 +—+ 5 +—+ 4 +-+ 3
--R 12\ |3 cos(x) + 24\|3 cos(x) - 12\]3 cos(x) - 48\|3 cos(x)

--R R 2
--R - 24\ |3 cos(x)

--R 5
--R sin(x)

--R +—+ 6 +—+ 5 +—+ 4 +—+ 3
--R 24\ |3 cos(x) + 48\|3 cos(x) - 24\|3 cos(x) - 96\|3 cos(x)

--R =t 2
--R - 48\ |3 cos(x)

--R 3
--R sin(x)

--R +—+ 6 +—+ 5 +—+ 4 +—+ 3
--R 12\ |3 cos(x) + 24\|3 cos(x) - 28\|3 cos(x) - 80\|3 cos(x)

--R +—+ 2 +-+ +—+
--R - 8\13 cos(x) + 64\|3 cos(x) + 32\[3

--R sin(x)

--R 7 6 5 4 2
--R Tcos(x) + 1l4cos(x) - 17cos(x) - 48cos(x) + 48cos(x)

--R 24cos (%)
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9
sin(x)

9
Tcos(x)

3
24cos (x)

7
sin(x)

9
21cos(x)

3
72cos (x)

5

sin(x)

- Tcos(x)

- 24cos(x

3
sin(x)

9

14cos (%)

144cos(x)

sin(x)

8
+ 14cos(x)

2
+ 48cos(x)

8
+ 42cos(x)

7
- 14cos(x)

)

8
+ 28cos(x)

4
+ 48cos(x)

7 6
- 10cos(x) - 34cos(x)

+ 24cos(x)

7
- Blcos(x) - 144cos(x)

6 5
+ 17cos(x) + 48cos(x)

7
- 41cos(x) - 110cos(x)

3 2
- 48cos(x) - 24cos(x)

| 16co

s(x) - 48co

s(x) + 48

\lcos(x) + 4co

4
(- 112cos(x)

6
(- 84cos(x)

3

s(x) + 6cos

+ 384cos(x)

4
+ 288cos(x)

(x) + 4dcos(x) + 1

2 7
- 384)sin(x)

2 5
- 288cos(x) )sin(x)
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5
- 17cos(x)

6
+ 144cos(x)

4 2
- 48cos(x)

6 5
+ 17cos(x)

4



6 4
(- 168cos(x) + 576cos(x)

6 4

(- 84cos(x) + 400cos(x) - 672cos(x)

\l- sin(x) + 1

+—+ 7 +—+
(- 16\|3 cos(x) + 80\|3 cos(x)

+-+ 9 +-+

- 16\ 13 cos(x) + 64\|3 cos(x)

+
+—+
96\ 13 cos(x)

7
sin(x)

+—+ 9 +-+

(- 48\ 13 cos(x) + 240\|3 cos(x)

5
sin(x)

+—+ 7 +-+ 5
(16\13 cos(x) - 80\[3 cos(x)

+—+ 9 +—+
- 32\13 cos(x) + 176\|3 cos(x)
+
+—+
- 96\|3 cos(x)
sin(x)
7 6
28cos(x) + b6cos(x) - 68cos(x)
+
96cos (x)
*
6
sin(x)
+

9 8

21cos(x) + 42cos(x) - 5ilcos(x)

2

3

- 576cos(x) )sin(x)

2

5 +—+
- 144\ |3 cos(x)

7 +-+

7 +-+

+-+ 3
+ 144\ |3 cos(x)

7 +-+

5

7
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+ 384)sin(x)

3 =+
+ 96\ |3 cos(x))sin(x)

5 +-+ 3

- 64\ 13 cos(x) - 48\|3 cos(x)

5 +-+ 3

- 432\13 cos(x) + 288\|3 cos(x) )

+-+ 3
- 96\13 cos(x))sin(x)

5 +-+ 3

- 368\|3 cos(x) + 336\|3 cos(x)

4 2

- 192cos(x) + 192cos(x)

6 4

- 144cos(x) + 144cos(x)

9



3
72cos (x)

4
sin(x)

9 8 7 6 4
42cos(x) + 84cos(x) - 102cos(x) - 288cos(x) + 288cos(x)

3
144cos(x)

2
sin(x)

9 8 7 6 5
21cos(x) + 42cos(x) - 79cos(x) - 200cos(x) + 68cos(x)

4 3 2
336cos(x) + 72cos(x) - 192cos(x) - 96cos(x)

fo— - — -+
e it + | 4 2
| 6 | 16cos(x) - 48cos(x) + 48
\|l- sin(x) + 1 |--———- -— -— -
| 4 3 2
\lcos(x) + 4cos(x) + 6cos(x) + 4cos(x) + 1

- 7 +—+ 5 -+ 3 +—+
(- 64\]3 cos(x) + 320\|3 cos(x) - 576\|3 cos(x) + 384\|3 cos(x))

6
sin(x)
"
+—+ 9 =+ 7 +—+ 5
- 48\|3 cos(x) + 240\|3 cos(x) - 432\13 cos(x)
"
+—+ 3
288\ |3 cos(x)
*
4
sin(x)
"

+—+ 9 F—+ 7 +—+ 5
- 96\|3 cos(x) + 480\|3 cos(x) - 864\13 cos(x)

FRE 3
576\ |3 cos(x)
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2

sin(x)
+
+-+ 9 +-+ 7 +-+ 5 +-+ 3

- 48\ |3 cos(x) + 304\|3 cos(x) - 752\|3 cos(x) + 864\|3 cos(x)

+
+—+
- 384\ |3 cos(x)
*
T +

Type: Expression(Integer)

0.45 Problem 45

% ___
--S 221 of 250
t0045:= sqrt(sqrt(sec(x)+1)-sqrt(sec(x)-1))
--R
--R
--R o +
--R | - + o +
--R (193) \Il\lsec(x) + 1 - \lsec(x) -1
--R Type: Expression(Integer)
--E 221
--S 222 of 250
r0045:= sqrt(2)*cot (x)*sqrt(-1+sec(x))*sqrt(l+sec(x))*_
(sqrt (-1+sqrt(2))*_
atan((sqrt (-2+2*sqrt (2))*(-sqrt (2)-sqrt (-1+sec(x))+sqrt(1+sec(x))))/_
(2*sqrt (-sqrt(-1+sec(x) ) +sqrt(1+sec(x)))))-_
sqrt (1+sqrt(2))*_
atan((sqrt (2+2xsqrt(2) ) *(-sqrt (2) -sqrt (-1+sec(x) ) +sqrt (1+sec(x))))/_
(2*sqrt (-sqrt(-1+sec(x) ) +sqrt(1+sec(x)))))-_
sqrt (1+sqrt(2))*_
atanh((sqrt (-2+2xsqrt(2) ) *sqrt (-sqrt (-1+sec(x))+sqrt (1+sec(x))))/_
(sqrt(2)-sqrt(-1+sec(x))+sqrt(1+sec(x))))+_
sqrt (-1+sqrt (2) ) *_
atanh((sqrt (2+2*sqrt (2))*sqrt (-sqrt (-1+sec(x))+sqrt(1+sec(x))))/_
(sqrt(2)-sqrt(-1+sec(x))+sqrt(1+sec(x)))))
--R
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(194)

+-+ | +-+ + -——+ t-———————— +
N2 cot(x)\I\I2 -1 \l|sec(x) - 1 \[sec(x) + 1

| +-+ | +——————— + o +

N2\ 12 + 2 \|\Isec(x) + 1 - \|sec(x) -1

fmmmm + oo + —
\lsec(x) + 1 - \lsec(x) -1 + \I|2

+-+ | +-+ o + +
\I2 cot(x)\I\I2 + 1 \l|sec(x) - 1 \lIsec(x) + 1

| +—+ | - + o +

N2\ 12 - 2 \[\lsec(x) + 1 - \lsec(x) -1

I + pommmmmm o + -
\lsec(x) + 1 - \lsec(x) -1 + \I|2

+-+ | +-+ o + +
\I2 cot(x)\I\I2 + 1 \|sec(x) - 1 \l|sec(x) + 1

atan

| +—+ o + |+ o
\NI2\12 + 2 \lsec(x) + 1 - \I2\]2 + 2 \|sec(x) - 1

+—+ | +-+
- \l2 \I2\]2 + 2

2\I\lsec(x) + 1 - \lsec(x) - 1

+—+ | +-+ o + +
\I2 cot(x)\INI2 - 1 \lsec(x) - 1 \l|sec(x) + 1

atan



--R \I2\I2 - 2 \|sec(x) +1 - \I2\|2 - 2 \|sec(x) -1
__R +

--R +=+ | +-+
--R - \I2 \I2\|2 -2

--R 2\|\lsec(x) + 1 - \lsec(x) - 1
--R Type: Expression(Integer)
--E 222

--S 223 of 250
a0045:= integrate(t0045,x)
--R >> Error detected within library code:

--R  integrate: implementation incomplete (residue poly has multiple non-linear factors)

--R Continuing to read the file...

--R

--E 223

--S 224 of 250
--m0045:= a0045-r0045
--E 224

--S 225 of 250
--d0045:= D(m0045,x)
--E 225

0.46 Problem 46

--S 226 of 250
t0046:= xxlog(x~2+1)*atan(x) "2

--R 2 2

--R (195) x atan(x) log(x + 1)

--R Type: Expression(Integer)
--E 226
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--S 227 of 250
r0046:= x*atan(x)*(3-log(1+x"2))-1/4%(6-log(1+x~2))*log(1+x"2)-_
1/2*atan(x) "2* (3+x72-(1+x"2) *log(1+x72))

--R  (196)

--R 2 2 2 2 2

--R log(x + 1) + ((2x + 2)atan(x) - 4x atan(x) - 6)log(x + 1)
__R +

--R 2 2

--R (- 2x - 6)atan(x) + 12x atan(x)

--R Type: Expression(Integer)
--E 227
--S 228 of 250

a0046:= integrate(t0046,x)

--R  (197)
--R 2 2 2 2x 2 2x 2
--R 2log(x + 1) + ((x + 1)atan(------ ) + 4x atan(------ ) - 12)log(x + 1)

--R 2 2x 2 2x
--R (- x - 3atan(-—---- ) - 12x atan(---—--- )

--R Type: Union(Expression(Integer),...)
--E 228

--S 229 of 250
m0046:= a0046-r0046

--R (198)
--R 2 2 2 2x 2
--R (- 4x - 4)atan(x) + 8x atan(x) + (x + 1)atan(-——----- )

--R 4x atan(--—---- )
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--R 2
--R log(x + 1)

--R 2 2 2 2x 2
--R (4x + 12)atan(x) - 24x atan(x) + (- x - 3)atan(---———- )

--R - 12x atan(------ )

--R Type: Expression(Integer)
--E 229

--S 230 of 250

d0046:= D(m0046,x)

--R 2 2x 2 2
--R (- 4x atan(x) + x atan(------ ) Jlog(x + 1)

--R Type: Expression(Integer)

0.47 Problem 47

--S 231 of 250
t0047:= atan(x*sqrt(1+x~2))

--R | 2

--R (200) atan(x\lx + 1)

--R Type: Expression(Integer)
--E 231
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--S 232 of 250
r0047:= 1/2*atan(sqrt(1+x~2)/x"2)+x*atan(x*sqrt (1+x"2))+_
1/2*sqrt (3) *atanh ((sqrt (3)*sqrt (1+x72))/(2+x72))

--R +-+ | 2 o + | 2
--R +—+ N3 \lx +1 I 2 \x +1
--R \I3 atanh(------------- ) + 2x atan(x\Ix + 1) + atan(--------- )

-k (201) -- - - - -

--R Type: Expression(Integer)
--E 232

--S 233 of 250
a0047:= integrate(t0047,x)

--R  (202)
--R +-+
--R \13

--R log

--R 2 +-+ 3 | 2 3 +-+ 4 2
--R ((2x + D\I8 -2x -4x)\Ix +1 + (-2x - 2x)\|3 + 2x + bx

--R +-+
--R \I3

--R log

--R 2 +-+ 3 | 2 3 +-+ 4
--R ((=2x - D\I3 -2x -4x)\Ix +1 + (2x + 2x)\|3 + 2x

--R - 2x atan(----------- ) + 2atan( -—= -—= --)

--R x +x -1 +—+ | 2 +—+ 2
--R (I3 -2x)\Ix +1 -x\I3 +2x + 2

138



--R - 2atan(----- e )

--R +-+ | 2 +-+ 2

--R (I3 +20)\lx +1 -x\I3 -2x -2

--R Type: Union(Expression(Integer),...)
--E 233

--S 234 of 250

m0047:= a0047-r0047

--R  (203)

--R +-+
--R \13
--R log

--R 2 +-+ 3 | 2 3 +-+ 4 2
--R ((2x + D\I8 -2x -4x)\Ix +1 + (-2x - 2x)\|3 + 2x + bx

--R +-+
--R \I3

--R log
--R 2 +-+ 3 | 2 3 +-+ 4
--R ((=2x - D\I3 -2x -4x)\Ix +1 + (2x + 2x)\I|3 + 2x

--R bx + 2

--R +-+ | 2 Rt + | 2
--R +-+ \I3\lx +1 | 2 \Ix +1
--R - 2\|3 atanh(------==—---- ) - 4x atan(x\Ix + 1 ) - 2atan(--------- )
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--R x +x -1 +-+ | 2 +-+ 2
--R (I3 - 20\Ix +1 -=x\I3 +2x +2

--R - 2atan( -—= -—= --)

--R +—+ | 2 +-+ 2

--R (I3 +2x)\Ix +1 -x\I3 -2x -2

--R Type: Expression(Integer)

--E 234

--S 235 of 250
d0047:= D(m0047,x)

—-R | 2 2x\lx + 1

--R Type: Expression(Integer)

0.48 Problem 48

--S 236 of 250
t0048:= atan(sqrt(x+1)-sqrt(x))

--R o + +—+

--R (205) atan(\lx +1 - \|x)

--R Type: Expression(Integer)
--E 236
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--S 237
r0048:=

of 250
sqrt (x) /2+(1+x) *atan(sqrt (1+x) -sqrt (x))

PR + S +—+
(2x + 2)atan(\Ix + 1 - \lx ) + \Ix

--R  (208) -- R e R

--E 237

--S 238
a0048:=

Type: Expression(Integer)

of 250
integrate(t0048,x)

--R  (207)

+————— + +—+ \lx +1 - \l|x +—+ +————— +

--R  ((x+ D\Ix+1 + (- x - D\Ix )atan(-——----------—-—- ) + \Ix \Ix+1 -x

__R —_———— —_ —_ ———

--E 238

--S 239
m0048:=

oo + +—+
2\lx + 1 - 2\|x
Type: Union(Expression(Integer),...)

of 250
a0048-r0048

U + +—+ \x +1 - \lIx
(- 2x - 2)atan(\|x + 1 - \|lx ) + (x + 1)atan(-————--—------—-—- )

\Ix \lx +1 -x

-1  (208) -- - - - -—-

--E 239

--S 240
d0048:=

Type: Expression(Integer)

of 250
D (m0048,x)
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--R \x \Ilx+1 -x

-1  (209) -- e -—- -—-

--R 2

--R Type: Expression(Integer)
--E 240

0.49 Problem 49

--S 241 of 250
t0049:= asin(x/sqrt(1-x"2))

--I  (210) asin(-—-=--—=-————- )

--R Type: Expression(Integer)
--E 241

--S 242 of 250
r0049:= x*asin(x/sqrt(1-x"2))+atan(sqrt(1-2*x~2))

--I (211) atan(\|- 2x + 1) + x asin(-—-—--—------ )

--R Type: Expression(Integer)
--E 242

--S 243 of 250
a0049:= integrate(t0049,x)
--R >> Error detected within library code:

--R failed - cannot handle that integrand

--R  Continuing to read the file...
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--E 243

--S 244 of 250
--m0049:= a0049-r0049
--E 244

--S 245 of 250
--d0049:= D(m0049,x)
--E 245

0.50 Problem 50

ok
)clear all
--S 246 of 250
t0050:= atan(x*sqrt(1-x72))
--R
--R
--R O — +
--R |2
--R (1) atan(x\l-x + 1)
--R Type: Expression(Integer)
--E 246
--S 247 of 250

r0050:= x*atan(x*sqrt(1-x72))-_
sqrt (1/2x(1+sqrt(5)))*atan(sqrt (1/2*(1+sqrt(5))) *sqrt(1-x"2))+_
sqrt (1/2*(-1+sqrt(5)))*atanh(sqrt (1/2*(-1+sqrt (5)))*sqrt (1-x"2))

--R (2)
--R e + | 2 | +-+

-k | +-+ \l-x +1\I\Is -1
--R \I\I5 - 1 atanh(- —_— -

--R +o—m + | 2 | +-+ B +
--R | +-+ \l-x +1\I\Is +1 -+ |2
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--R +-+
--R \12

--R =t
--R \12

--R Type: Expression(Integer)
--E 247

--S 248 of 250
a0050:= integrate(t0050,x)

--R | +—+ +—+ +—+ +-+ | 2 | +-+ +-+ 2
--R NINIS = 1 log((\I2 \I5 + \I2)\|-x + 1 \I\I6 -1 +\|6 - 2x + 3)

--R +—+ +—+ +—+ | 2 | +—+ +-+ 2
--R log((- \I2 \I58 - \I2)\l-x + 1 \|\I6 -1 +\I|6 -2x + 3)

--R B + +—+ | 2 | +-+ +—+ | 2
--R | +-+ (I8 - D\I-x +1\I\I5 +1 +2x\[2 \|-x +1
--R - 2\I\I5 + 1 atan(------- -—- -—- -—=-)

--R +—+ | +-+ 2 +—+
--R \I6 - x\I\NIB +1 + (2x - 2)\I2

--R +o—— + +—+ | 2 | +-+ +—+ | 2
--R | +-+ A\I58 - D\I-x +1\I\I6 +1 =-2x\|2\|-x +1
--R 2\I\I5 + 1 atan(- -— — -)

--R +-+ | +-+ 2 +-+
--R (x\I5 - x\I\I5 +1 + (-2x + 2)\|2

--R +-+ 2x\l- x +1
--R 2x\ 12 atan(------------- )
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--R 4\12
--R Type: Union(Expression(Integer),...)
--E 248

--S 249 of 250
m0050:= a0050-r0050

--R | +-+ +—+ +—+ +—+ | 2 | +-+ +-+ 2
--R \INIE - 1 TogC(\I2 \I& + \I2)\I-x + 1 \I\I6 -1 +\|6 -2x + 3)

--R +—+ +—+ +—+ | 2 | +-+ +—+ 2
--R log((- \I2 \I5 - \I2)\l-x +1\I\I65 -1 +\|6 -2x + 3)

--R Fo—— + | 2 | +—+
--R | +-+ \l-x +1\N\Is -1
--R - 4\I\I5 - 1 atanh(--------------------m- )

--R o + | 2 | +-+ B +
--R |+ \M-x + 1\N\I5 +1 -t |2

--R 4\I\|5 + 1 atan(- -—- ---) - 4x\|2 atan(x\|- x + 1)
--R +-+

--R \12

--R o + +—+ | 2 | +-+ +—+ | 2
--R | +-+ A5 - D\I-x +1\I\I5 +1 +2x\[2 \|-x +1
--R = 2VI\IB  + 1 @ban(---mmmmmm oo )

--R +—+ | +-+ 2 +-+
--R (\15 - \I\I5 +1 + (2x - 2)\|[2

--R tommm + +-+ | 2 | +-+ +-+ | 2
--R [ +-+ A5 = DNI-x +1\N\I6& +1 -2x\|2 \|-x +1
--R 2\I\I5 + 1 atan(--------- e )
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--R x\I5 - \I\I5E +1 + (-2x + 2)\|2

--R +—+ 2x\l- x + 1
--R 2x\|2 atan(------------- )

--R +—+

--R 4\12

--R Type: Expression(Integer)
--E 249

--S 250 of 250
d0050:= D(m0050,x)

--R Type: Expression(Integer)
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